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Topic:- Grad_Nutrition and Health

1) Which of the following are the dietary goals for population at large?/ 3‘—n?r

¥ P, ATUP e ¥ BRI 784 82

1. All of the above/3Iudad it

2. Prevention of deficiency diseases and disorders/ WW 3R fABRI BT AU
3. Optimal performance and maintain IBW/ 3UgdddH TSR qUT IBW HT0H G

4. Maintenance of positive health/ JhRIHAD WY HTIH 9G]

Correct Answer :-

« All of the above/G'quGﬁ Tt

2) Intranatal care begins with the onset of: /UHdPHTAI ¢@HTd & I+ H 379 4
T 9 8?2

1. Labor and after delivery which include the examination of mother and baby/ g Udd
R®Y §H & I1¢ 3R Bl § 3R U9 & §I1G d% Fad! ¢ forad Arar 3R R &1 S e
M §

2. During last trimester of pregnancy/ dg TfaRT ot 3if~<H famTel & SRM & ot §
3. Both of the above/ SWRIad aiHI
4. During second trimester of pregnancy/ U8 THIGRI &1 el faATE! & TR 1 STl &

Correct Answer :-

« Labor and after delivery which include the examination of mother and baby/ Yg Udd
SRTY B & TG SR BIdht § IR THd & 91 b gt ¢ forad J1aT 3R Rg] o1 S e
RUIE G
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3) Hepatitis B is caused due to:/ %‘ﬁ?l%ﬁ'\q B & BRI @'cﬂ %:
1. Feacal contamination/ Hel ¥V
2. Contaminated water/ Sicl Ul

3. Parental route/3{TdR AN
4. Food contamination/ HIS =GN0l

Correct Answer :-

« Parental route/&mﬂﬂ'f

4) Constant presence of a disease or infectious agent within a given
geographic area is known as , example-cholera, malaria etc./ forett

fafdy +imfere &= & forelt A1 a1 Gpre sifieal @t evmaR IufRufa &1 Ped

1. Epidemic/ HEMR!

2. Endemic/ W/ﬁ'@ﬁ&%ﬁ T

3. Carrier/ digh

4. Period of communicability/ FeRURIAdr & 3afd

Correct Answer :-

« Endemic/ W/ﬁ'@fﬁfm T

5) A vitamin which helps in iron absorption is:/T®% faerfiq st smaR= srawiyor #
S §:

1. Ascorbic acid/ T&hifad 3T

2. Thiamine/ Jipite)

3. Riboflavin/ JTgetrifa

4. Pantothenic acid/ Y% 3w

Correct Answer :-

« Ascorbic acid/ T&plad 3w

6) Infectivity of chickenpox last:/ DIt FTH (ﬁlﬁﬁfﬂ'{) P TpTHBdT gl
f

1. 3 days after appearance of rash/ qar fauq & 3 fad a1g d®
2. Till the last scab fall offs-Given/ SRR q'q_sﬁ iR 9M d&
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3. As long as fever last/Sld d& @R fe’ dd dodh

4. 6 days after appearance of rash/ GaR f&@- & 6 9 a1 d&

Correct Answer :-

« 6 days after appearance of rash/ aal fo & 6 fod 91g a&

7) Energy required to digest food, absorb, transport and store nutrients in

the body is called:/HS{ UaH, IR H G¥F dodl ST AT, GRaeT 3R YUSRUT
FA T T arell SHoit B Ped &

1. Total energy required/ ©d ATdGH Sl
2. Total energy expenditure/ od Sl oI
3. Body mass index/aﬁ IR s@ﬁm

4. Thermogenesis/ dlusi—-q

Correct Answer :-

« Thermogenesis/ dlausa-d

8) Glucose is added in case of dehydration to infant for:/ AdGITd H forcteteeor &

AFAATES s fg/sEuddd e
1. Absorption of sodium/ IfSaH & RN
2. None of the above/3TH ¥ B3 gl

3. Source of energy/ &l & Hld

4. Taste/ Wiq

Correct Answer :-

« None of the above/'si_rlff I Elﬂ'sf :lﬁ

9) A BMI greater than 25 (kg /m?2) for women indicates:/ Afgarsii & arya o
25 (fPur/#t2) A sifee & BMI &1 3 8:

1. Over nutrition/ I I 3{f%H TIvor

2. Under nutrition/ ITHR ¥ & QY[

3. Balance nutrition/ ﬂaﬁﬁruﬁw

4. None of the above/ SIRIad H ¥ HIg Tl

Correct Answer :-

« Over nutrition/ I T 3HfeH Troof
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10) Angular stomatitis, glossitis and cheilosis is due to the deficiency of:/

Fivfiy gEure (TWeR wHersfew), Mgy (@rarsfe) sk sisfaezar (A«fm)
7 »Hl % SRU B gl

1. Niacin/ o=

2. Riboflavin/ Jgetrifa

3. Cyanocobalamin/ITa-Ib IaTar -
4. Thiamine/ Jipite)

Correct Answer :-

. Riboflavin/ JSatifa—

11) One of the well tested approaches to control iodine deficiency disease in

the population is the distribution of:/SdYg ¥ S & FH T g1 ard M R
o= $31 A ' guifem usfa § S99 CORCLRE

1. Iodised water/ 3T Jad oId
2. Todised aerated drinks/ 3MarsH aTfad U

3. Iodised salt/ 3TAISH g THD
4. Todised spices/3MAIeA gad T

Correct Answer :-

. Iodised salt/ 3RS Jad THH

12) Measles vaccine is given under the National Immunization Programme:/

P wfoRefievr SRiwH & oaifd @R ST AR Y g W g &man @
1. 6 weeks/6 T«
2. 9 Months/9 HIg
3. 6 months/6 Hig

4. 18 months/18 HIg

Correct Answer :-

« 9 Months/9 HIg

13) Schick test is done in:/ H ¥ udtemr fpar wirar @
1. Meningitis/ AfFTgfcT (ARaSHTaRURIY)
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2. Diphtheria/ fSwifar

3. Pertusis/ T
4. Poliomyelitis/ Tferdl ATgemsiey
Correct Answer :-

« Diphtheria/ fewiifear

14) Meat, fish, eggs and milk are important sources of proteins of:/ Iﬁ'ﬂ,

o, oS ok gy ara Wl & Wgeayul | g
1. High biological value/ 3= Sfd® A
2. High retention value/ 3= IREIR RG]

3. High absorption value/ 3= 3{a=N¥U A
4. None of the above/ SWRied § I aﬂs‘qﬁ

Correct Answer :-

« High biological value/ 3= Wfds® A

15) The vaccine usually given to pilgrims to the Middle East is?/ 0 qﬁﬁlﬁ
ara d1f artal & arm=a: sa-a1 aRi= fear s 82

1. Meningitis/ AFGTEcT (ARTSHTaRURIY)
2. Yellow fever/ i SR

3. Influenza/ SIS

4. DPT

Correct Answer :-

« Yellow fever/ Gid SaR

16) Mycobacterium tuberculosis and Vibrio cholerae were identified by:/

ATPIaERINGT cqargaay R fAffa s S wgam______ A 3t &
1. Robert Koch/ e pra

2. Louis Pasteur/ ggd UIgR

3. Newton/ <g+

4. Einstein/3{Ig~ACTg

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

« Robert Koch/ e pra

17) Recommended site of administration of DPT in infants is?/ -auTd R &

DPT AT &1 3R W 872
1. Gluteal/ ‘qﬁﬂﬁa@ﬁ
2. Deltoid/ Sweigs U=

3. Forearm/ 3{Udlg
4. Lateral aspect of thigh/Sig &T Ursf YR

Correct Answer :-

« Deltoid/ Sccigs Uit

18) Thiamine deficiency is usually caused due to:/ YIATHT B FH AMHAR W
& HIROT Bl &

1. When people consumed more polished rice/ e WWW@WW o 3w
fby oM

2. Adapt improper cooking practices/ Il U1 B &Ijlrad YT 3O
3. Throwing excess water after cooking rice/ dad b & §I¢ §d AfdRad UMl &I b
Gl

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3udad i

19) When was the first National Health Policy was formulated:/ TI'@'!I WY
Hifa &9 GHEx B W A2

1. 1983
2. 1987
3. 2002
4, 2004

Correct Answer :-

« 1983

20) Which of the following is an essential fatty acid?/ 378 9 P TP ATIYR
9T 3 32
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1. Linolenic acid/ INGINIGEROE]

2. Ascorbic acid/ TEhilad 3

3. Folic acid/ WIfdid 3

4. None of the above/3WIad ¥ ¥ s g!

Correct Answer :-

« Linolenic acid/ feMdifa 3

21) Malaria is caused by:/ #afdr P PRV G 8
1. Plasmodium/ W &gy

2. Leishmania/?ﬁ?l‘ﬁﬁm

3. Entamoeba hystolytica/ TucHIaT fgweifafcar

4. Clostridium/ FeISaq

Correct Answer :-

« Plasmodium/ Wefead

22) Growth Retardation and severe wasting of muscle and subcutaneous fat
are two constant features of nutritional:/ gf& W 3R UMY va sreteasita o
F1 TR &, T Nwor gra=i P &I gdd fa=ivarg g1

1. Marasmus / BRIETH

2. Pellagra/ D)

3. Scurvy/ wHdf

4, Stomatitis/HQUldh (@W[‘s’f?ﬁ)

Correct Answer :-

« Marasmus / R

23) Conjuctival xerosis means of conjunctiva./$edeTsad WRINY BT
3 A=A (Peidergar) b/ B | 3

1. Dryness/ QU+

2. Blindness/ 3{¢dl

3. Softness/ Hgdl
4. Hardness /@& 3Rl
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Correct Answer :-

« Dryness/ H:@FFI

24) Additional protein requirement during pregnancy is essential for?/'lT‘l-I'h'\Qn

& ORI Smaxg® Sifafad WA & g smaxas g1 @:
1. Enlargement of uterus/ THRE &1 THR fS

2. Rapid growth of foetus/ TH® R &1 d1g gfg

3. Both of the above/ RERCSRAR]]

4. None of the above/ SWRIad & ¥ BIs ol

Correct Answer :-

. Both of the above/ IWRIEd g

25) Protein, fat and carbohydrate are sometimes referred to as:/ !ﬁ'cﬂ'—l, qd1

IR wrafeEie A w-w | wEremar

1. Proximate principles/ ﬁwlﬂ?{a@ (EIT%H'J?IE Tﬁﬁrq&q)
2. Important principles/ Hg@qUl Hd dd

3. Primary principles/ It Ca Hel dd

4. None of the above/ SWIad # ¥ ®I3 a1

Correct Answer :-

« Proximate principles/ ﬁwlﬂ'ﬂa@ (EIWE EISSS3)

26) Patients with tuberculosis of any other organ than lungs is known as:/
BHS DI Bl B 34 Bl 3T & & AT (egarpaiig) A Hifsa Afri & Pal
ST 8

1. Extra pulmonary TB case/ Wﬂﬁiﬂﬂ'ﬁ <tet By
2. TB of Lungs/ ﬁv'qv_eﬁ CARAE]

3. Both of the above/ JWRIad G

4. Alcoholic TB/ Tedblgall ciall

Correct Answer :-

« Extra pulmonary TB case/ QEREJCIW e B

27) What are the limitations of RDA?/ RDA &I IFHTE &1 82
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1. Recommendations only for healthy persons/ %ad W& HfGadl gg FIRATT

2. Recommendations not for undernourished, obese or sick people/ $UINd, HICTARRA
1 AR @ & forg SR et

3. There are differences between individuals in their nutrient requirements/ fFaal 3R

I UIVUT a2l SIS ISl b aF 3R 8id &
4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

28) Following below methods can be adapted while assessing the nutritional

status of individual:/ aafed &t Tiwvr fRIFT $71 siivad H31 & fow 399 A g fAfy &
3YATIT T TPl 82

1. Nutritional anthropometry/ GINor Ta=it Jfafa
2. Clinical examination for nutritional signs/th'GlUT Tra=ft hdl P Aeie (?ﬁﬁﬁW) S

3. Biochemical rstimation/ SaRTA™I® 3fha

4. All of the above /3udad it

Correct Answer :-

« All of the above /quj?ﬁ gt

29) The protein provided under ICDS scheme to children till 6years of age
include:/ ICDS TS & 3[=Id 6 a4 d@ @I MY ardl I=ai ! f&d W aral W Ft
HTAT 8

1. 8-10gm of protein/8-10 IH WA
2. 15gm of protein/15 JH WM
3. 12gm of protein/12 ¥ Ui

4. 20gm of protein/ 20 UTH W

Correct Answer :-

« 8-10gm of protein/8-10 UM Ui

30) Rational response to diarrhea:/ ¢ W adbra ufaferar-
1. Intravenous theraphy/ 3~a:RRIT (erdt=w) fafean

2. Salt and sugar solution/ FH® d R[GhH B o

3. Household food/ aithvﬂ
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4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

31) Multivitamin supplements containing folic acid during pregnancy reduce

theri%kof-/ﬂuﬁw%ﬁﬂﬁuﬁmmgﬁaﬁqgﬁmw o1 SIfw
YcIdl &:

1. Neural tube defects/ AT ATd QY (R <4 [Shac)
2. Goitre/ YT (T13R)

3. Diabetes/ H?jﬁ"e’

4. None of the above/IWRIad ¥ ¥ ®Is ol

Correct Answer :-

« Neural tube defects/ a1 ATd IV (XA cgd fethae)

32) In control of communicable diseases, the period of quarantine in respect

of a disease is determined by:/IJ=RURNE I & fAa—ur #, fHd A7 & T o
TRIY o1 3rafy &1 fefzor ERT 8T 3:

1. Duration of iIIness/ﬂ"Tﬁ 3afy

2. Carrier state/ dlg AR

3. Incubation period / RATlga 3fafe

4. Infectivity period /IhHURN]/IhHGAT i

Correct Answer :-

« Incubation period / J7Thga 3@fy

33) Vitamin E is the major lipid - soluble vitamin which possesses: /faerf¥ E

9% g fuftrs gemsita faerfim @ foras BT 3
1. Antioxidant property/ EUE‘TS{TaFﬂ@UEﬂUT

2. Ageing property/ SIRUT 01
3. Destructive property/ fa-® BRI o
4. None of the above/ IWRIGd & ¥ &5 8l

Correct Answer :-

« Antioxidant property/ TUcI3{IRItSUC 01
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34) Smallpox was eradicated because of the following factors except:/ _quﬁ I

fPY BlsHT 3T PRSI & BRI AP (FATAUTGT) BT S e 81 YT 412
1. Long incubation period/ el ITega 3afy

2. Extra human reservoir control/ 3ifdiead AMa HSR g0

3. Easy to recognize/ UgdId T e

4. Potent vaccine/<Ifaagrelt LN

Correct Answer :-

« Extra human reservoir control/ 3ffdRad AMa HeR a0

35) The National Nutritional Anaemia control programme that aims to

prevent and treat anaemia in:/!Tfl'!I Tryor gra=ft Yadreddal fAaaor srded
H IFTdT B AU TF ITER HIH W Al 8:

1. Healthy person/ W Afad

2. Adult man/ 9O¥h ¥4

3. Pregnant women/ adt II%?ITGﬁ

4. None of the above/ IWIdd § ¥ HIg ol

Correct Answer :-

« Pregnant women/ Tadt Afgemait

36) Poor nutritional status prior to and during pregnancy has serious and

long-term effects and there is a risk of:/ﬂ“-l‘h@l‘[ | ugﬁazn B‘\‘lﬁ?aﬂﬂﬁw
fRfa @rme g1 & ™R Seferas gura gid § ok BT TN Wil ¥&dT 8:

1. Maternal morbidity/ ﬂ]ﬂ?ﬂwflﬂﬂ?ﬂ

2. Early/preterm delivery/ Qﬁﬂ/w-ﬂj uag
3. Low birth weight/ 5H & T I9 HH

4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

37) List two conditions arising due to energy imbalance:/ St Gm-_gﬁ:rﬁ SUA
811 arelt &Y fRufeat sarg:

1. Obesity and chronic energy deficiency/ AeTdT 3R H@Ifc® Sl AT
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2. Cholera and diphtheria/ %TrIT 3R fewifar
3. Typhoid and malaria/ TABISS 3R A
4. Measles and tuberculosis/ IIRT Gﬁiaﬁwm

Correct Answer :-

« Obesity and chronic energy deficiency/ HieTdl 3R Srfa1fers SHoif gar

38) A simple sugar which is a major source of energy for all the body cells is

?/T® Od I3 i IRR B Gt siflRmerei & fiw et 1 v Hia 82
1. Cane sugar/ﬂ?[ﬁm

2. Sucrose/ W

3. Glucose/ ‘?‘Eﬁﬁ[
4. Fructose/ Taciol

Correct Answer :-

« Glucose/ @Il

39) Breasfeeding prolongs the period of natural immunity to viral infection
like:/ &M, $S fauTy] Jepuvn o= & favs wopfae uferen ot srafy ot awr
H T §:

1. Some kind of pneumonia and diarrhea/ & UHR & Tﬂﬂﬁfﬂ 3R T
2. Polio/ qifera

3. Both of the above/ JWRlad G

4. Diabetes/ ngﬁ‘s'

Correct Answer :-

« Both of the above/ RERCSRAR]]

40) The measure of health status of children in a community is:/ Igerd | g
o1 wared fRufa $1 = 3-

1. Infant mortality rate/ Fdld g &)
2. Maternal mortality rate/ HI§ Jg &®
3. Crude birth rate/ 3=NEd S &
4. Crude death rate/3RNYd g &

Correct Answer :-
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« Infant mortality rate/ 7auld g @

41) Pregnant woman should avoid following foods in the diet?/ T¥adt i &
3 3R | 379 ¥ frd yoR & e I §9+1 91fge?

1. Stale food/ SR YIS

2. Junk food/ Si® B8

3. Spicy and oily gravies/ AYTAGR 3R el 3T (Jdt)
4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ B“q?i?ﬁ gt

42) What is the recommended allowance of calcium as per ICMR 2010 for

women?/ ICMR 2010 & 3R &0l & fog SHiekmm ot sra=ifia srqufa fra-t 82
1. 600 mg/ day/600 fimm/fea
2. 400 mg/ day/400 f&Rm/fea
3. 300 mg/ day/300 f&Rm/fea
4.700 mg/ day/700 frn/fe=

Correct Answer :-

« 600 mg/ day/600 frn/fea

43) The functional effects of iron deficiency anaemia include: /33 &I HHI I

g1 ara TR & sratae gural ® i §:
1. Fatigue, restlessness and impaired work performance/ @, I 3R effor et

2. Disturbance in thermoregulation/ dUFa~<0l H T8da!

3. Increased maternal and perinatal mortality and morbidity/ HIJ @TW-@WWHT
T4 oo # gfs

4. All of the above/G”CPjTﬂ Tt

Correct Answer :-

« All of the above/quTﬂ gt

44) Basal metabolism increases during pregnancy as a result of- /THTaRIT &

R F SR MU Ty § gfF g 2
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1. Accelerated tissue synthesis/ TRd SHad IV
2. Increased active tissue mass/ Gishd Hddh saqM ¥ g

3. Increased cardiovascular and respiratory work/ gedaledd Td PR &1 H Jha
4. All of the above/3udad I+t

Correct Answer :-

« All of the above/B'quaﬁ ekt

45) During Pregnancy the iodine deficiency disorder could affect fetus in

following ways like:/ THIGRIT & SR TS a1 faeR fFa-fra ger ¥ miw
g # gurfad o1 god 82

1. Neurological cretinism/ dfi®1d shet-dm (aTH-dT)

2. Deaf mutism/ G SR
3. Squint/ HMOA
4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

46) A vegetarian mother have more chance of getting the deficiency of:/

WMHRER AT & __ 3 ol 1 Bt Gyt e gt 8-
1. Vitamin B12/ fae1fi B12

2. Vitamin C/ faerf®= C

3. Vitamin A/ faeTf®= A

4. Iron/ 31O

Correct Answer :-

« Vitamin B12/ fde1f#a B12

47) Under antodaya ann yojna scheme which is a supplementary food
security scheme which caters to poorest of poor entitles a distribution of

kg of food per month per family:/ amﬁzqamuﬁw%amﬁaagﬁ-—r-
W T RS Wl gR&T Ao g ot fHdqaw safdaat i ufa a1 ufa
iR & forg ur Tt @

1. 40 kg/ 40 f&3n
2. 35 kg/35 four
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3. 30 kg/30 f&ur
4. 38 kg/ 38 foour

Correct Answer :-

« 35 kg/35 oo

48) Prenatal development comprises of:/ Udd ﬁm H i 8:
1. Periconceptional period/ THURU-Td 3afd

2. Embryonic period/ “;LUﬁH 3afy

3. Foetal period/ TS 3rafy

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

49) Period of maximum infectivity in mumps is during-/ﬂ?UfH\?ITIﬁ?I/ﬂﬁHGIT
(o) # SfRpay TehrHdmar 1 3rafy & SR gl 8:

1. Onset of swelling/ Yoiv &1 Y=

2. After swelling appears/ i foad & dlq
3. Incubation period/ IM&a- 3afy

4. Prodromal period/ ﬁ"TCIﬁT*[&IUT 3fafy

Correct Answer :-

« Onset of swelling/ goid &1 YRS

50) Phrynoderma is caused by:/ freat ¥ PRI gIdT &:

1. Deficiency of Minerals/ @St @ HHt

2. Deficiency of B complex vitamins/ B IR faeTiqr &1 S

3. Deficiency of essential fatty acids/ 3FTaRAH (A1-3ARAA) TIT 3G BT HHT
4. None of the above/ 3udad # J ®Ig ol

Correct Answer :-

« Deficiency of essential fatty acids/ 3FARIA® (AH-3URAA) THT 37 DT HH
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Which of the following diseases gives life-long immunity after an attack?/

$TH | BIH-9T INT ATHHT & TG Sita--Td~ YR & ST g2
1. Mumps/ BUIERIY/ RIS (H7)

2. Typhoid/ <AWISS

3. Diphtheria/fewifar

4. Tetanus/fceg

Correct Answer :-

« Typhoid/ TA®IZS

52) After food reaches back of mouth, swallowing a becomes:/HISH & & &
fUsa 4T # ugd o & g1¢ fArem @t ufeean SRCIG

1. Voluntary/ Uf<s®

2. Involuntary/ 3fsH
3. Automatic/ Tfed
4. Mobile/Tfaite

Correct Answer :-

« Automatic/ @aTferd

53) Green leafy vegetables and fresh fruits are poor source of:/ g TR
gfesrar 3R at v @1 33T |id &l &

1. Dietary fibre/ SR -
2. Protein/ udH

3. Vitamin K/ faeri#= K

4. Vitamin A/faeifiq A

Correct Answer :-

« Protein/ UI¢H

54) Colostrum is a yellowish thick fluid, rich in: /9 (HdRed) T drer el
9 BT § i) # |5 gl B

1. Proteins/ I

2. Immunoglobulins/ SRIARAIG A
3. Electrolytes/ 3daciaige
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4. All of the above/3udad g+t

Correct Answer :-

« All of the above/3udad I+t

55) Which one of the following is indirect method of assessing the nutritional

stat%s of Individual?/ 38 ¥ 4, Afad & Nyr fRATT P 3fhad B B AT
fafdr g2

1. BMI
2. MUAC

3. Age specific mortality/ 3 fafRy gogaz/aRurierdr

4. Biochemical estimation/ SaRIEAMS b

Correct Answer :-

« Biochemical estimation/ SaRETAMS b

Topic:- Grad_General Knowledge and Logical Ability

1) The maximum zoom percentage in Microsoft PowerPoint is:/ muﬁw‘ﬁzﬁ Sfferpan
I wfa=rd 8:

1. 100%
2. 200%
3. 300%

4. 400%

Correct Answer :-

» 400%

2) How many squares are there in the following figure?/ % 3rmfa & o &t
=T fopat 82

E T

1. 16
2.17

3.26
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4. 30

Correct Answer :-

« 30

3) In which year did the Child Marriage Act come into force? / 1= 3918
srfereaw g ad & 9 3T 1?2

1. 2006
2. 2007
3. 2008
4. 2009

Correct Answer :-

« 2007

4) Which of the following is called as protocol / f-F & @ &9 IT Weldid Hgardr
g2

1. http / TardIdidt
2.//

3. www/ S&] S&] S&]
4. .com /. HH

Correct Answer :-

- http / Tddd!

5) After 2019, how many villages will have to be developed under the
Saanjhi scheme by 2024? / 2019 ¥F Ts7q a9 2024 T T TISHT & S(aviq o« ATHT HT
e FAT 92 ?

1.3

2.4
3.5

4.6

Correct Answer :-

e 5
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6) When was the Ministry of Tribal Affairs bifurcated from the Ministry of
Social Justice and Empowerment? / SASTAT FTF HATAT FT H 199 9 & GIATRE =0T
S ATEFTIAT HATAT & AT TR AT TAT?

1. 1999
2. 2000
3.2001
4, 2002

Correct Answer :-

« 1999

7) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women cannot be called ‘Sati’? o<t gy (Trpam) srfafa=w, 1987 & siavta
5 & & F= wigATH &1 AA T AT H TG AL ST THAT 872

1. A widow being burnt alive along with the body of her deceased husband forcibly /

T HigdT (ST 97 JaF I & a8 6 a1 STaLaed| STl [&F1 ST W@l g

2. A widow being burnt alive along with the body of her deceased husband voluntarily
| U HIZAT ST 99 ga 9 % I8 F 919 I TAogTIa® ST (37 AT @ 8

3. Both of the above / IUI<F =T
4. None of these / za% & FIE A&l

Correct Answer :-

« None of these / Za% & #1E Tt

8) In which year was the Right of Children to Free and Compulsory Education
Act or Right to Education Act enacted? / [:Se& Ua stfAar farer g g ad &
ara R maT?

1. 2008
2. 2009
3.2010

4, 2011

Correct Answer :-

« 2009

9) The MS-Word text transfers them automatically to the next line when
they reach the right edge of the screen. It is called / Q‘H‘Qﬂ-ﬂ@f AIRT P IF
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3 T & iR fFaR 9% ugd o1 @ ) S8 3IUR 3MT 3Telt ATgH W RIFiastd &edl gl
EL| g1 SITdT 82

1. Enter / TR
2. Word Wrap / CREU|

3. Auto Scroll / 3ffel ®hid
4. Carriage Return / RS e

Correct Answer :-

« Word Wrap / gS U

10) What would be the approximate compound interest (in Rs.) of Rs.15,000
in 2 years at the rate of 5% per annum compounded half yearly?/'\'ﬂlﬁ 15,000

o1 2 99 & ol ¥ 5% yfaad a1 $t G & AT TUFT HIA W Tehqies AT (U H) T
T BII?

1. 1557.20
2.1829.35
3.2163.85

4,1975.75

Correct Answer :-
« 1557.20

11) Which file format can be added to a PowerPoint show?/PowerPoint 2 #
P T WIS WEY SIST Sl bl 82

1. .jpg
2. .gif

3. .wav

4. All of the above / Iudad Ft

Correct Answer :-

« All of the above / E'q?jﬁﬂ‘éﬁ-ﬁ

12) Which one of the following figures represents the relationship among

Shirts, Bed sheets and Towels? /{1 ¥ 3 $i9-4 snepfa Hfiw, areR sk At &
g v 31 gidl g2
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21O B |amD
(1) (2) 3 4

1.1

2.2

3.3

4.4

Correct Answer :-

e 1

13) Which one of the following options is/are not true? / % & & =47 AT a&r
TRl 82
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ &g STrfaer sfaf==m, 1956 afexi F UF &< @eg Ta &
FA SITTART T STFErTT 7T ThelT

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / &g STa=RE Ferree sTfafaaw, 1956 & FT ATedT &l
Fo 9Tt F A e w srferee yare BT

3. Both of the above / 39k =T
4. None of these / =% & FT< 721

Correct Answer :-

« None of these / =& & &g A&}

14) What operating system is used as the base of the Android stack? /USIss
RE P YR W BT ATRFET Ricew &1 Iuah fowar Sirar 82

1. Linux / NG

2. Windows/ fd€ist
3. Java/ S[dl

4, XML/ 3 TH 3

Correct Answer :-

. Linux / foeg

15) DIRECTIONS: Which of the following figures is exactly the mirror image of
the question figure, when the mirror is held at MN? / fd%r: fA & @ 19 Tt SaR

TP U=A pfa &1 guur ufafas gift afe e gdur Y@ MN = 3@ wira?
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7

M Question Figure: T A-I'F!-Tﬁ-f

I®

Answer Figures: Iooq ATl

i

2

-

(1)
1.1
2.2
3.3

4.4

(2)

Correct Answer :-

. 4

3

(4)

GET IT ON
Google Play

16) DIRECTIONS: Find out missing number from the figures given below./

fré=r: & wit sreforat & qua Tem wra i

218

3.F

4.0

Correct Answer :-

« R

17) In which year was the Hindu Succession Act enacted? / g ad & g
ST stferfeam A B 2

1. 1954
2. 1955
3.1956

4. 1957

Correct Answer :-
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18) DIRECTIONS: Study the following pie chart carefully and answer the
question given below./ &z fafafEd urg aid &1 o I SrmgT AR AT W Uy &
IR o |

Distribution of students studying in a University /U® fayfaermer # sreou HR T8
BTEl &1 fauTe

Total number of students /wwﬁﬁ'ﬁm = 1500

Arts/THET, 10%:

Medicine/ TafEmm, 8%

Commerce TR, y - e
33% F\\
—_Managemant, T,
16%
soience,/formT, 18%__
-\-\_‘-\_
Eniiwlnmm

The ratio of number of students studying in Engineering and science are

respectively:/ AT 3R fagm # ue ¥R faenfiat 9t v &1 wu=r: srqura @:
1.1:3
2.2:7
3.5:6
4. 3:5

Correct Answer :-

« 5:6

19) The speeds of Aman, Aditya and sanjay are in the ratio of 4: 5: 6
respectively. If all of them covers equal distance, then the ratio of time
taken by Aman, Aditya and Sanjay are respectively:/ 3¥, 31fed 3R Torg Ft
TIfY BT SJUTd HHRT: 4: 5: 6 31 AfS W TuTA &t 79 T §, a1 3r, Snfeed 3R oy gy
T T Wy @1 SguTd HERT: B

1.16: 17 : 9
2.15:12: 10
3.2:7:9

4.1:3:5
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Correct Answer :-

« 15:12:10

20) Which of the following schemes of the Ministry of Tribal Affairs have not
been identified to come under Direct Benefit Transfer? / A% & ¥ 199 SFSTT
FT HATAT & TISAT THE ATH AL % FAIAT A 6 1T AT Tl 14T 872

1. Post Matric Scholarship for ST Students / SIqH=T AT & AT % o0 Tree-Hies g
2. Top Class Education for ST Students / SIH=d ST % ST & forg =i Fare fovar
3. Rajiv Gandhi National Fellowship Scheme / Trstta ieft TfeT HaATTOT TI4T

4. National Overseas Scholarship Scheme for STs / SE=T SASTTAAT % {70 TERT TATHT

Correct Answer :-

- National Overseas Scholarship Scheme for STs / ST STAATAAT % o TERT TATET

21) In OSI model, Transmission data rate is decided by:/ 3TH3ME ATsd H
SRR sTeT o} @1 fAvfy formam wimar @:

1. Physical Layer/ [hRied TR
2. Transport layer / TRIAIE TR
3. Data link layer / el R
4. Network layer / Acdd R

Correct Answer :-

« Physical Layer/ hlIed TR

22) Assisted reproductive technology, IVF involves transferof-/IVF o wyHafed fwar srar %—
1. Embryo with 16 blastomeres into the fallopian tube/16 PHROHWUS] dTel Hul &1 g Tot &

2. Ovum into the fallopian tube/37STU] &1 Balfugd Tet &

3. Zygote into the fallopian tube/gTHS &1 Henfog et o

4. Zygote into the uterus/JHAS B TRHUTT |

Correct Answer :-

e Zygote into the uterus/gIHIS] P TRHUTT |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

In which year was the scheme Swachh Bacche Swasth Bharat launched? /

Taog a9 e WX ATSIAT T ACFA H1Ad 99 § gar?
1. 2013
2.2014
3. 2015
4. 2016

Correct Answer :-

« 2016

24) In which year was the Vanbandhu Kalyan Yojana launched? / a9e+¢ &m0
JISET " a9 & ST 63T 19772

1. 2013
2.2014
3.2015

4. 2016

Correct Answer :-

- 2014

25) Lalit walks 9 km east, turns south and walks another 4 km. Then, he
takes a right turn and walks another 3 km. Now, how far is he standing from

his starting point?/afed yd fe=m & 9 fapH} =erar 8, fpr afeor fexm & gear @ ik
4%§m%|ﬁwagar&asm%eﬁv3ﬁwﬁm%l 39 98 WRIY® fig A frat gt W
WeT 3?2

1. 7 km/7 Tt
2. 12 km/12 fooedt
3.5 km/5 fodt
4.10 km/10 foHt

Correct Answer :-

« 5 km/s foHt

26) Which organ is mammal contains Glisson’s capsule?/ Ty & fea T o Wﬂﬂﬁaﬂﬁﬁ Uit
ST 32

1. Stomac/3HIRIY

2. Kidney/dad
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3. Testis/q¥h
4. Liver/ b d

Correct Answer :-

e Liver/ Ydbhd

27) The National Safai Karamcharis Finance & Development Corporation is an
undertaking under the /T gaTs FHET A Sar e e e
HATAT & et e s 9 g2

1. Ministry of Human Resource Development/am=a d#Ta« fa=me @31

2. Ministry of Finance/fa< #aieta

3. Ministry of Social Justice and Empowerment/aTaTiorF =M i stferpriar sameT
4. None of these/zaH & #I< A&l

Correct Answer :-
« Ministry of Social Justice and Empowerment/aTHTIST =13 i< SATERTIAT HATAT

28) “Food grains” under the Food Security Act, 2013 means-/ @1 &
Afer=aw, 2013 F AqaR A9 § & FF9T “@rEms’” F dquiq ar g2

1. Rice, wheat, pulses / =ma«, g, a1

2. Wheat, pulses, coarse grains / g, a1, T AT

3. Coarse grains, pulses, rice / ¥ AT, aTA, ATAA

4. Rice, wheat, coarse grains / 1as, g, ¥ AT

Correct Answer :-

« Rice, wheat, coarse grains / 1, g, ¥ AT

29) In which year was the first National Commission for Women constituted?

/ TETTH TE AfRAT s e o # wrfsq o @ an?
1. 1990
2.1991
3.1992
4. 1993

Correct Answer :-

« 1992
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30) Human Sweat contains: / HI-Id A A 3-1?“ ??

1. Pure water/ R SIcl

2. Water, salt and waste matter / ocf, <IdUT 3ﬁ? &fq'&l? UET?f
3. Phosphoric acid / IR IR 3

4. Calcium phosphate and water / &Y Brahe 3R 5d

Correct Answer :-

e Water, salt and waste matter / SIc], dU[ 3R G-I'Q'W UET?f

31) How many clusters does the Shyama Prasad Mukherji Rurban Mission
aim to develop in the first phase? / I YHTg Tl €= W F T8 901 | fohae
Fereel &1 faere T S

1.100
2.125
3.150

4.175

Correct Answer :-

« 100

32) When was the National Commission for Scheduled Castes formed? / Tg ¥

ST ST ST &l i (ST (AT TAT?
1. 2004
2. 2005
3. 2006
4. 2007

Correct Answer :-

- 2004

33) A sum of Rs.89,00 is divided among X, Y, Z in such a manner that the
shares of X and Y are in the ratio of 4:5 respectively and those of Y and Z are
in the ratio of 6:7 respectively. Share of Y (in Rs.) is: / U 89,00 G| X, Y 3R
Z & A 39 YR fauTiora &Y 8 8 fop X 3R Y & feval &1 Srqurd HHR: 4:5 1Y 3R Z

& fe=al &1 3rguTa U= 6:7 31 Y @1 o=t (3. ®) &:
1. 2800
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2. 3000
3. 2600
4. 2500

Correct Answer :-

- 3000

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e frafafed uy o yyaras ) & R
R THIT DI AT | ST 2

4/11130.25 _ 2

1. 105
2.125
3. 115

4. 135

Correct Answer :-
« 105

35) People drinking water from a shallow hand-pump are likely to suffer from the diseases:/ a

<RI S IYW FSUT & U Ui B S8 P14 A I 8 Fhd B

(i) Cholera/ &<

(ii) Typhoid/ CIS®IgS

(iii) Jaundice/ WiferaT

(iv) Flourosis / ugahﬂﬁm

The correct answer is:/ I 3T %/ %
1.1, 11 and iv

2.1, 11 and 111

4, 1 and ii1

Correct Answer :-

e 1, ii and iii

36)
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In a class of 120 students, 40% can speak only Marathi, 25% can speak only
Gujarati and rest of the students can speak both the languages. How many

students can speak Gujarati?/ 1zomﬁaﬁw$&n 'ef, 40% Wmﬁﬁﬁ'ﬂﬁ%,
25% W;ﬁﬂ?ﬁﬁam%ﬁ!ﬂwwaﬁr YTYTE 91 9Pd 8| $o foha- B TorTdl
A gPd 8 ?

1. 50
2.75
3.72

4. 55

Correct Answer :-

37) Gestation period is the duration-/ THYRUT BT B SraTAT ﬁ?ﬂ_vﬁ %—

1. Of fertilization/ fIS=

2. Between egg growth and ovulation/ 33 q@ Td 31\IOH\Q?152I"I & o
3. Between fertilization and parturition/ S Td ddfas & 9&
4. None of these/ Tﬁg sﬁlﬁ I =|€°r

Correct Answer :-

« Between fertilization and parturition/ S Td dafasa & 9&

38) To insert a hyperlink in a slide: /T® ¥lgS H grswfeie Afrfed #31 & fou:

1. Choose Insert >> Hyperlink /sﬂaé > > gRWI® ?ﬁ

2. Press Ctrl + K/ Ctrl + K<qd ﬁ
3. Both of the above/IWRIad Gl

4. Hyperlinks can't be inserted in slides/XISS T g3Rfcie qiRIferd el fbdl oI Tahdl

Correct Answer :-

« Both of the above/SWRIad Eﬁ:ﬁ

39) Pavan sells an article to Rajesh at a profit of 5% and Rajesh sells it to
Urmila at a profit of 10%. If Urmila pays Rs.6930 for it, what was the cost

price (in Rs.) for Pavan?/ Wwﬁﬁmﬁ 5% Waﬁv_{aﬂwaﬂﬁ'ﬂ,
AT & 10% FATHT AP a8 9g 99 a1 21 afe IRFen F1 %.6930 YITa= H=-1 U3, t ua
3T 49 oA (%, W) T 412

1. 5080
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2.6250
3. 6000

4. 5750

Correct Answer :-

« 6000

40) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements./ f33n: 2 fow 7T A ® oo $Y SR 3@ 918 $ Frewd feg T &
3! faT T HY= ! T HIFAT 8, HA 81 3 gdyrd aa ¥ =1 udia g 8f | I+t frspuf
3! ufer fre g Hifme f fau e fFrepul o @ S 91 abwTa $UF SR HRdT 8§, IR
TdyTd 97 $9 W 7

Statements: /PY:

All kites are bats/d¥! udd, THES &

All bats are tables/ﬂ'l-ﬁ JHIIGS, ﬂTrr%

Conclusions: /o

I. All tables are bats/ I A9, THES &

II. Some tables are kites/Wﬁﬁ,ﬂ?ﬁ%

1. If only conclusion I follows /tr%émaﬁwmh &@TUTW%

2. If only conclusion II follows/3dfe Had fsw 11 WW%

3. If either conclusion I or II follows/af¢ a1 df fhY 1 AT 11 G@TUTW%

4. If both conclusion I and II follow /afe sy I SR 11 g ST B &

Correct Answer :-
. If only conclusion II follows/df¢ dad sy 11 TR0 a1 §

41) If the average of a, b, ¢, d, e and f is 30, then what will be the average of
a/3,b/3,¢c/3,d/3,e/3 and f/3?/df¢a, b, ¢, d, e 3R f &1 3Hd 308, A a/3,
b/3, c/3, d/3, e/3 3R f/3 &1 3 HT gR?

1. 18
2.15

3.12

4. None of these/378 4 &S gl
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Correct Answer :-

« None of these/378 I &S 8!

42) A, B and C contracted to do a work for Rs.13000. A can do the work in 2
days; B can do it in 3 days and C can do it in 4 days. If they work together to
complete the work, then what will be the share of C (in Rs.)?/ A, B 3R C gRT
et ST B W1 HA & faE 3. 13000 A S foram maT1 A srbar 39 FH @) 2 feAi H, B
e 39 3 foAl # quT ¢ srdvar 39 4 feAi § o gwar g1 afg A diH v Ay s o, @i €
31 fear (5. ®) & grm?

1. 3000
2. 2200
3.4000
4. 6000

Correct Answer :-

- 3000

43) Which answer figure will complete the pattern of the question figure? /

e o @ o1 3 SR e wy snpfa &1 qui wwft?

\

()
e
B
A&
Correct Answer :-
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44) Pointing towards a girl, Arun said, “she is the only daughter of my
paternal grandfather’s only son”. How is that girl related to Arun?/ TH ASPI

P 3T FURT FIQ §U 31 A Fgl P ag A TSl & THATH YF &1 AT T 3§ 98 asat
50T A fhrd UpR awEfia 82

1. Sister/dg4
2. Mother/Iﬁ'

3. Daughter/tﬁﬁ

4. Daughter-in-law/4adY

Correct Answer :-

« Sister/dgd

45) For which of the following level was the Kayakalp scheme launched for
the first time? / FaTHew TioHT Rofefra ® 9 st Soft & fore aedyyw sy BT @ a2

1. Community Health Centres (CHCs) / ATHETI a1 &g

2. Primary Health Centre (PHCs) / wtafos Ty &g
3. Sub-Divisional Hospitals (SDHs) / 39-HE €Tl

4. District Hospitals (DHs) / T sreaqre

Correct Answer :-

« District Hospitals (DHs) / {5 sreqarer

46) Another name of autoimmune thyroiditis is-/ E’Qﬁﬂ&ﬁ m‘{ﬁm‘gﬁ‘q DI A ATH %—
1. Addison’s disease/ & T

2. Simund’s disease/ ATZHUS I

3. Cushing’s Syndrome/ Wﬁﬂ

4. Hashimoto disease/ %'Qﬂ:ha AT

Correct Answer :-

e Hashimoto disease/ |%QI|II|E| T

47) Which of the following acts is included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005?

/ = TBar & wigen s srfgfaas, 2005 ¥ siasta =% § & sraar fear s e % sarear 9 o
qhaT g7

1. Insulting her for not having a child / T AT g1+ % FHTLT TTHTAT FHLAT
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2. Harming her relatives to coerce her to pay for dowry / g & o0 STa<awdt e 9 3

Redamet 1 g1+ ag=mT
3. Repeated threats to physical pain / I T Tg=TH FT a1 J12 gHaAT A7

4, All of these / S9ZI<F T

Correct Answer :-

« All of these / U<k T+t

48) Digestion is not a function of which of the following ? /UTd- ¥t fopar fFrg o 9 foraet &1 =8t
8

1. Biotin/argife

2. Pepsin/a'@l:f

3. Rennin A

4. Amylase/ T

Correct Answer :-

« Biotin/arIfed

49) Which of the following statements is/are true about the Indecent
Representation of Women (Prohibition) Act, 1986? / \fgaT &7 srws whaffae
(FFrrer) srferfam, 1987 avawelt w=dT fashew gt 82

1. It extends to whole of India, except Jammu and Kashmir / I8 = aw S &7 F9di
& AT T AT H AR &

2. Representation on any ancient monument cannot come under this law / =T ST+

TATCE H 6T AT Tl T e o0 TSI & iauid el o Jahd T
3. Both of the above / 394 T=T
4. None of these / T#% & #T$ 7l

Correct Answer :-
« Both of the above / 393=F Tt

50) If ‘orange’ is called ‘butter’, ‘butter’ is called ‘soap’, ‘soap’ is called ‘ink’,
‘ink’ is called ‘honey’ and ‘honey’ is called orange, then which of the
following is obtained from milk?/afe ‘TR’ & ‘HEG’ HT AdT 8, ARG’ B ‘GG’
ot 8,1 i ® @ 39 a1 gy @ ure e irar 32

1. Honey/RIgq

2. Butter/HRg
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3. Ink/Tgt
4, Soap/9ITg-d

Correct Answer :-

51) In which year did India ratify the UN Convention on the Rights of the
Child? / w<a 7 e a9 § G936 T 1A ATAHTE TEHAT (Fea &) FHT TRHT0r 6aT?

1. 1992
2.1993
3.1994
4. 1995

Correct Answer :-
« 1992

52) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e fafafed uy ® uyaras e ) &
R THIT DI AT | ST ?

(560 x 15.98) + 12.4001+960.15 = ?
1. 1596
2.1682
3. 1605
4, 1865

Correct Answer :-

- 1682

53) Match List I (Disease) with List II (Type of disease)./ '\‘ftﬂ 1 &l ﬂ\_tﬂ 2 9 firema:

: List I/ FET 1 . List II/ 3T 2
A, Hemophilia/ grATdTeRT 1. Deficiency disease/ E?EI’I'EITF[ Thar
B. Diabetes/ #YHE 2. Genetic disease/ 3M=@iidd T
C. Rickets/ & 3. | Hormonal disorder/ grEfaer wfEaf@Eaar
D. Ringworm/ TETas 4. Fungal Infection/ WG H&HAT
The correct match of the lists is:/ Td fra= &Y Tl?ﬂTﬁl'Q
1

A |8 fc |o |
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2 |3 |4 |1
2.
A |B |C |D
2 |3 |1
3.
A |B (C |D
2
4,
A |B (C |D
2 |4

54) DIRECTIONS: Choose the missing terms out of the given alternatives./

fArdr: fog e fasedt & @ gw el & 3ra 3|
L_NOO _ ML _ MNO_ NML

1. MNLO

2. ONML

3. NLMO

4. LOMN

Correct Answer :-

« MNLO

55) Till what age of a girl can a Sukanya Samriddhi Account be opened under

her name? / T JTferaT & fohas a6t IT T Sh ATH HT GhedT (g GTAT GIAT ST THhaT 872
1.6
2.10
3.12

4.15

Correct Answer :-
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Topic:- Grad_Managerial Skill

1) Which of the social philosophers called sociology “Social Physics”?/ &«
TTHTIST IS T THTSTLATE T "QTHATSTR A" FgT AT?

1. August/ nTea

2. Wolfed pareto/ aTe®e q¥ar
3. Mac Iver/ & s=a<

4. Herbert Spencer/ g@ae ¥HaT

Correct Answer :-
« August/ rnTeq

2) Members of a team have been cross-trained so each person is able to
perform the duties of all the other team members./ T T & T &l 59 THE
gre-gferfera (Fig-gve) forar & fF g2 = s oy 7 geeat & sicat @ ffdgs w & aaw
&l

1. Functional/ Faia+
2. Cross-functional/ TZ-F1aTcHsF

3. Multifunctional/ agFraic=®

4. Self-directed/ =-fA=fora

Correct Answer :-

« Multifunctional/ Igmaica

3) Which one of the following is a ‘secondary group’?/ 3# & &9 U% ‘fgfias a9z’
g?

1. Nuclear family/ wser afame
2. Peer group/ F=/aw®er 99
3. Association/ |9

4. Joint family/ 9<% 9ET®

Correct Answer :-

« Association/ 9=

4) Problem solving method in which all members of a group fully accept and
support a decision:/ THEIT g FA St TH f&AfY R awg & g+t e v fviw &t T a3
THHTT FT AT & 3T ST G947 Iq &=
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1. Norm/ #T9eS
2. Compromise/ I9=TaT
3. Goal/ =&

4. Consensus/ AMq-Ag9fd

Correct Answer :-

« Consensus/ ATH-AgAT

5) Communication is the task of imparting:/ 91X, Y&TH % T 54 &
1. Training/ wforegor

2. Information/ ==

3. Knowledge/ 14

4. Message/ Hzett

Correct Answer :-
« Information/ =T

6) “Man is a social animal.” Who said s0?/ “aq57 T& aTHT# Tl §1” 98 Fohaw #g7
a7?

1. Comte/ =iv

2. Aristotle/ 31¥g

3. Plato/ =iar

4. Karl Marx/ #tet 9T

Correct Answer :-

« Aristotle/ sreq

7) Social sector includes:/ T &7 & ___ 9= 81
1. Health & Education/ Fame= 7 ferear

2. Economic policy/ sufe= it

3. Housing/ et

4. All of the above/ 3Td T+t

Correct Answer :-

« All of the above/ 393 asft
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8) Goalshelpto__ ./@a__ #usE Hd &l
1. Communicate/ 9% F¥A

2. Success/ TFA g

3. Work/ 14 7

4. Motivate/ ITd Fe

Correct Answer :-

« Communicate/ 59T¥ F3

9) Field work in social group work helps to acquire ./ AT TE F1 §
A FE, 1 S # ggdN HaT &

1. Knowledge/ it

2. Skill/ rerer

3. Attitude/ T3t

4. All the above/ 3T T+t

Correct Answer :-
« All the above/ 3UIF F4T

10) Development expenditure of the central government does include:/ &=

F & Fwa =g & ATER graT &l
1. Defence Expenditure/ &1 I
2. Expenditure on economic services/ STt ATl 9T g4 aTAT AT

3. Expenditure on social and community services/ STHTSTE ¥ ATHETAE SaTall 9% g aTar
=

4. Grant to state/ =3t &I AqEE

Correct Answer :-

» Defence Expenditure/ T&m a4

11) The following are non-verbal communication:/ F¥ifFa & ¥ Fi7 stenfeas §9

g7
1. Facial expression/ =< & ga-a1d
2. Appearance/ fe@Tae/€TGT

3. Posture/ qzt
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4. All of the above/ 373 T+t

Correct Answer :-

« All of the above/ ST asft

12) Which of the following is not a symptom of Group Think?/ 37# & %I, 998
e FT TF A&7 51 57

1. Illusions of vulnerability/ srgferaar & 97

2. Belief in inherent group morality/ s=af=2d aqg Afaaar § f&eam

3. Applying direct pressure to deviants/ o= & f=fora 9 ATt a¥ HieT g&ma STeET

4. Self-censorship by members/ Ta&dT T ACH-AST (HEF -HEI9T)

Correct Answer :-

« TIllusions of vulnerability/ srfemaar F g9

13) Which one of the following is not a stage of team development?/ @8 &
I, T I FT TF 920 761 52

1. Forming/ =T (®iTH)
2. Deciding/ fAvig
3. Adjourning/ = T

4, Storming/ gTar

Correct Answer :-
« Deciding/ faorr

14) The following are the most effective ways of communication?/ 378 & &9

AT T qaH THTAATAT TEHT 52
1. Verbal/ errfea=®

2. Non verbal/ #rettfez=

3. Written/ forfera

4. All of the above/ ST T+t

Correct Answer :-

« Written/ ferfea
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Social justice is the balance between ./ AT =T & &= & oA

g

1. Individual’s rights and social control/ =f=f % srferrTel fiv FraTiers A=
2. Society and individual/ 9T 3 =7f<%

3. Fundamental rights and judicial system/ Tfers sfareRTl sie =amiae a1
4. Individual and family/ =f<F 3z qfE™

Correct Answer :-

« Individual’s rights and social control/ =f<F & sTTeRTEl 3f¥ ATHTISTE A=

16) Denotified Tribes are:/ R ST §:
1. Ex- criminal tribes/ q@-sraereft SESTaaT
2. Untouchables/ #3971

3. Wandering Communities/ @THTa&IeT/aSTT JHaTT
4. Artisans/ FTETE/feredt

Correct Answer :-

« Ex- criminal tribes/ T@-sTaTell SSITIAAT

17) What are the objectives of social policy?/ amaTirs S F ST FT 8?2
1. Social change/ amaTfors afyad

2. Social integration/ TTaTISIF TR0

3. Improvement of quality of life/ Straw ura<T # &

4. All of the above/ 3Td T+t

Correct Answer :-

« All of the above/ 393 asft

18) Society is rooted in which concept?/ 9T & §& & sraemeon & 87
1. Action/ Fr/faT
2. Interaction/ sr=afsar

3. Roles/ syfa=Td

4. Culture/ Ha8+ (Feav)

Correct Answer :-
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« Interaction/ sr=afsaT

19) Which of the following is way of communication process?/ 378 & FI9, §91X
AT T TFH TR 872

1. One way/ UH-daTHT

2. Two way/ ZI-a<HT

3. Three way/ fi9-av&r

4. None of these/ =# & &< g1

Correct Answer :-

« Two way/ aT-aTHr

20) Social policy is part of:/ F@IREHATI___ FTATT I
1. Public policy/ Tame=r 7 farar

2. Economic policy/ = it

3. Political policy/ smama

4. Religious policy/ ST Tt

Correct Answer :-

« Public policy/ TaresT 7 forer

21) The basic objective of group work is ./ TE FTF T YA S22 g
1. Personality development/ =afrca fasme

2. Problem solving/ ¥9&aT g1 F¥AT

3. Readjustment/ qEHTISIT

4. Remediation/ 319X

Correct Answer :-

« Problem solving/ #¥T 3T FA

22) embodies a team concept, is based on the principle of mutual
contribution by employer and employees./ , T I ATLTOT FT Tohe €9 &, 9T
AT T FHATAT TR ICEIE TR & TG I e gl

1. Autocratic model/ Figer/Twa=T Aied
2. Custodial model/ =foeefy aizer
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3. Supportive model/ ST AleA

4. Collegial model/ sg=/F==t Aige

Correct Answer :-

« Collegial model/ aga/a==t Aied

23) Forces affecting organizational behavior are:/ SsATcHF A HT TATIAT FLA
Tl I s

1. People/ &t

2. Environment/ 9aia<or

3. Technology/ Sr=ifirht

4. All of the above/ ST &+t

Correct Answer :-

« All of the above/ ST &+t

24) Sociologist describes the term ‘group’ as ./ FETSIATET ‘GHE e &
F €7 § IIATIIT FLd &

1. Collection of people/ =T & HaheA

2. People involved in organized pattern of interaction/ =afaT & HWfSq Te § Horyr AT

3. People interacting at a place/ 3t =49 9% steafehaT ¥ ¥ AR

4. Participation in a gathering/ foFet TaT/aT 8T § 9T o

Correct Answer :-

« People involved in organized pattern of interaction/ sT=af#aT % &S Te | Ty A

25) Social policies deals with issues such as:/ gTaTRE ot afe qEi &
qrfead grat gl

1. Poverty/ fRg=ar
2. Poor housing/ @1 araTH qa4T
3. Disability/ ster<rar

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 393 T+t
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26) One of the following is NOT a feature of communication?/ 3% & &9, §91X
&t T farorar wgi 82

1. It involves more than an individual/ =8 TF & 373 =xf<p e g @

2. It involves transmission of information/ SH¥ =T &1 TV 73T STAT
3. It is not limited to the art of speaking/ 7g STa i FAT aF HITHT A5l §
4. It promotes good human relation/ 7§ 3= ATHAT T¥ =l Tl TLTAT AT &

Correct Answer :-

« It promotes good human relation/ I8 3= AT TFw2| Hl AT adT &

27) As per the Newman and Summer Communication is the exchange of:/
AT T THL & ATETE, G4 T ATETH-TETH &

1. Facts/ T=ai
2. Opinion/ #a
3. Emotions/ s{ra=Tat

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ ST asft

28) Social problem are treated with social reform and WA CUEEREIDIE
T A THTS eI T ¥ Rt SITaT 81

1. Social legislation/ smaTiers f@rem
2. Social work/ aTqTRI F13
3. Social science/ THT fasT=

4, Social service/ gHTS ¥4

Correct Answer :-

« Social legislation/ amarfers fEram

29) Good recording in group work should focus on?/ 99qg F1d § IUH ATVA@T &I
I Ffvad gET ATRY|

1. Active organized/ @fs= T3 o

2. Skill used/ T Frerer
3. Group process/ HHg TiHaT
4. Members characteristics/ Ie&a F1 fFaraarai
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Correct Answer :-

« Group process/ Tqg THAT

30) You find it easy to trust other people:/ 37T A X AT FIAT AHTE ATAT &
1. False/ T&@

2. True/ @&t

3. Can’t say/ &g 98! T&d

4. None of these/ 7% & T g1

Correct Answer :-

o True/ @&r

31) Programme in social group work is based on?/ STHTS® 93 &4 # HTAHA,
I ST AT gl

1. Interest and resources/ = Ud HHTEAT
2. Interest and resources of the worker/ T #it == U TaTeAT

3. Interest and resources of the group/ &g it = UF HETL=T
4. None of the above/ SY%IF ¥ & #IS g1

Correct Answer :-

. Interest and resources of the group/ T¥g T &= T HHT&T

32) The process of making an expectation a reality is:/ T9&T &1 TEqfashar a7 i
EIERIE

1. Brain-storming/ fE=me-ga+
2. Problem solving/ #9HIT g AT
3. Criteria/ #T9s

4. Goal/ =1eg

Correct Answer :-

« Problem solving/ ¥HEIT &1 &~

33) are distinct form of “Justice” in Indian constitution./
AT 1 Hi3eT § “=19” % 9O &9 81

1. Social, Economical, Political/ araTfers, sfe® & Tefas
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2. Social, Psychological, Emotional/ STHT, AATG=TH Ud ATa-TcHS
3. Social, Educational Judicial/ ararisme, difers ue =i
4. None of the above/ S92 & ¥ #I< Ag!

Correct Answer :-

« Social, Psychological, Emotional/ ATaT, AFTESTAE U ITaqTcH®

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea werter it eamqa® Tehe 39«19 fad 79 aglamedt Teqi # a51 fasweq
T FIT HL

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STTENTH T Tgq THTAATAT TATH o6 ToIT T Faer FTATH Hl FIA TATT ATA FHILRT S Thet 1901 BT TTRT
AELTF &, T AATIHI &1 HeT § VT FRorfaat ot Fat Fieft § S ATENTH ¥ 9ga< a=10) 39
Rafaat & oo § AT GETah-aTH AT TSTH HLAT, TAeqeT ST I3Ea< gART 6l ATaT e
FHLAT, T S THAAT FHT ATT AT, TLET FIAT T STeAT 3 AT FT ARTIAT FLATI 39T TETAF
AT SATERT &7 319 S STl TATAT 1 ST LT AIAT hr WITaeh [AATqTSH HT 0T HC
T&d &, I T, henfiew, A=, 91, g i< = e enfeas aviv &1 19 a7 &1
FLATI AGTIAH ATHRIAT AT T SATAT § T ATIoIh SIS & AT T SATATh A € AT gl I
AT 99 €ZF T ST 8, AEATTH ST H T g ST AT T €ATT A qTAT Ag 1| TEAT ATAT SATAT &
5 75 T 3@ FT fiwd §, TS g7 F 3 T o1 | ST A581 & HE@d g Svg AToah AqL &
ST raT & Ramar ST aar 8, 92 aTRdl & T 39T 9graE it saed g1 ATg S
HT=IAT 9@t BT AT AT, AT T Ig ¢ 1o FA=ntiat ® sqar dvevr s FhaT 1 aear § a1 9811 a7
7% & o srfemm & rerar srfer sivt 1 ST g, STfanT daeeT Sast gt srfers wsraermet 1 S
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S YTIOITSAr T A=A o=, St AT THT & 7T STEATIT TETah ATHRET o6 ST Teqd FLA I v
THEAT SATETH g1 STTAT g1 AT TgTa% gt Vel aegqai i aifRafaat #1 fAFes ya= Fdt §
Sr2 eaT | TEqa Al AT ST ThdT g1 Fgl gL ST I AT (A1 TEAAT T =1 e | T80
ATAT ST TRt &, T Rt et i F e su @yl A it srafer & @ 9 wewar 1

Why should the teachers create certain conditions in the class-room:/

AEATIHT T FH&T § Fg FeAfaat w1 AT wAT A1iZU?

1. that may improve learning/ 3% AT3H § &M g7 T §

2. that may improve teaching/ 378 F&aTIH | T g1 Tl &
3. that may improve students/ 3## fE=nfa=i & qeme g1 aar &
4. that may improve teachers/ 39 T&aTIHl H AT &1 TFdT &

Correct Answer :-

« that may improve learning/ 37 SITeRTH & AT 21 AT ¢

2) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fawaferfea werter it eamqE® Tehe Iq A= fad 79 aglamedt gedi # a51 fasweq
T FIT H

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STENTH T Tgq THTAATAT TATH o6 ToIT T Faer FTATH Hl FIA TATT ATA FHILRT S Thet 101 BT TTRT
AELTF &, T SAeATIHI & HelT § Vet FReorfaat ot FaTt Fieft § S AT ¥ Sga< a9101 39

Rfaat # amiirer § steamas agras-ara it Yo AT, Taeaet ST e gIT it Jraar e
FHLAT, ST S THAAT T ATT ST, TLET FIAT T STeAT 3 FATAH FT ARTILAT FLATI 39T ETAF
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AT ATERT &7 STH 3T Tl TATAT 1 ST LT AT T WITAh [AATqTSH FT 0T HT
T 8, T Far, frenfRew, gt 91, s oix 3 s enfsas aoiv &t 19 =7 &1 5
TEATIT TETAF ATHIAAT AT T STTAT 3 AT QATToah STSLT & AT TH ATA <k oref [ JATar 81 &
AT 99 €%F T BT 8, AEATTH ST HL Tohd g ST AT T €ATT A qTAT g 1| TET FATAT STAT &
& 75 it 3@ FT figd §, TS g7 F 3 T a1 | ST q551 F H@d g Svg AToah Aq<e &
ST ST & @ AT 96T 8, 98 IIRAT & (70 39T G QAT AaeT® &1 978 SUIh
HTIAT Tl 31 AT Agl, A9 T8 Ig g T Rt & sa=r drevr e frar o aear § a1 98t a7
Tg g T srfemm & ™ea stfers s &1 STA0T G, SITANT SasAT Ia«t g STfars THTALATAT g1 STU(T|
S LTTOITSAr T =A==, St AT UHT & o7 SreATae ggTash TR 6 TRU TEqa A T S
THAAT AMETT g1 ATAT g1 AT TgTaeh ATt UHT aqelt ofie qiertaat &1 fashew yara w3l §
e 8T | TEqa Al AT ST ThdT &1 Fgl gL ST I AT (A1 Tah+=T 7 o= e | 481
ATAT ST THAT g, I TRt Tt FIHH F AT I G TRLAAT HT GIeT S A1 § @71 7 ghaT g

Which conditions should the teachers provide?/ steaTasi &t -5 Rorfaat =

FAT ATRT?

1. teaching aids/ &A= FgT@= ATAREAT

2. creating rivalry/ Sfaeagt Ft qra=T S FLAT
3. co-operation/ TTEIT AN sl ATAAT ST FLAT

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 37w &sft

3) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwferfera Terier it eaTga® Tehe Iq A= faF 79 aglaswedt Te91 # doi fasweq

T FIT A

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
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provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STENTH T Tgq THTAATAT TATH o6 TorT T Faer FTATH Hl TIA TATT ATA FHILRI S Ahet 101 BT TTRT
AELTF &, T AATIHI & He T § VAT Feorfaat ot Fart Fieft § S ATENTH ¥ Sga< a0 39
Rofaat # e § steama= agras-ara it Yo FTAT, Taeaet ST e gI T it Sraar e
FHLAT, ST S THAAT T FATT ST, TLET FIAT T STeAT 3 AT FT ARTIAT FLATI 39T TETAF
ara T faRmT it 1 iR sreiet aATdY €)1 sra Rig-rir fami v wifaw Rroraarsi w1 auie w2
T &, I Far=, henftew, g, 91, g i< = srue enfeas avia &t 319 a7 &1
FEATY AGTAH ATHRIAT AT T SATAT § T ATIoTh SIS & AT U SATATwh A [ AT gl T
AT 99 €%F T GIdT 8, AEATTH ST H T g ST AT T €ATT A qTAT Ag 1| THAT ATAT SATAT &
o 3 Fremdt 3@ #T ded €, T 97 F2 3T 7 a3l | ST A58 F €19 § I8 ATeas Aqaen &
ST raT & Rram T ST 99ar 8, 9 aTRdl & U 397 9graE it saed gl ATg S
HT=IAT Ggt BT AT AT, ATA T I ¢ o6 FA=tiat & gaar dvevr rdes FraT S aevar & 37 9811 a2
7% & o arfamm & rerar srfer siv 1 ST g, STfanTa SaeeT Sast gt stfers wsraermet 1 S|
S YTTOITSA &7 A=, St AT THT & 7 STeATI FETah TR 6 FTRT T6qa FL U< Sva
THSAT STETH 8T STTAT g AT TgTa%h gt Vet aegqat i aifRafaat #1 fFes ya= F3dt §
Sre 6T | TEqa Al AT ST ThdT g1 Fal gL TATT I AT (AT TEAAT T =1 e | T80
ATAT ST THAT 5, I TRt Tt wrdsrm F STRT 39 T e T HT Giet S (ater § @1 1 96at &

Visual aids make learning:/ 393 98¥& QMHUAT ATAMHA AT __ FATAT &
1. Boring and dull/ == i< Fer

2. Concrete and meaningful/ 31¥ ¥ sT&qor

3. Irritating and illogical/ ETsT STI= T JTAT AT AATHF

4. None of the above/ 373 & & #Is Tal

Correct Answer :-

« Concrete and meaningful/ 319 T sr2qut

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: et Terter it eqTqa® Tehe 39 A9 foF 79 qgiaswedt Te71 § g1 faweq
T FIT HL

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
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verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STERTH T Tgq THATALTAT FATH o6 ToIT T FHarer FTTETH HT GIH TATT ATA HILHT L AHeATHI BT TR
MMAAF g, AT ALATART HI HeAT H AT Rt T JATT ST ST AT T Iga< IAT4| 39
Rt & enfietr & TeaTae TEras-arHiaT Yo F3AT, Taeqel si¥ I3Ea< GganT il ATaHT Ie0s
FLAT, YT S TARAAT HT FATT IAT, THT HLAT AT SIEAT ST ATERTH HT AWTILAT FLATI F9F TETAH
AT AFERTT T ST 3T STl FATdY §1 ST Rig- i A v Wifaw fFeraarsi w1 quie w3
T g, I Far==, fhentiey, g, 31, sre@ ¥ = ek Qrrfeash Fi &l 319 a7 &3| 9«
FEATIT TETAH TTHINAT AT T STTAT § T ATIoTH SITRLT F AT UH AT h orf [ Jmar g1 &
AT 99 §ZF I G 8, AEATTH ST FT o g ST ATAT BT €ATT A qTAT Ag 1| THAT AT SATAT &
o 7= faemft 3@ F3 @ad &, T 99 o< X T T5a1 9| ST M58 & Had § Sve AT(ea Aqasll &
ST ArET & @ ST a%ar 8, 9 STHdl & [0 397 9g® QT saeds g1 a1 SIIh
HT=IAT G5l &1 AT Aal, 8« Te= 98 § o rentiat § sa=r devr farse frar s aar g av agh a=x
Tg & o rfanm & e srfers st T SUAT ST, ATBRTH HasAT SaT gt STTers THTaLrTel g1 STusf|
ST STTOTTSN T AL, STt AT THT ST 37T SAEATIT TETIF ATHIIAT 3 TILT TET FLA T 378
THAAT STETH g1 STTAT gl AT g% gt VT Fegat e qirRafaat 1 fFFeT Ja+ Fdt g
SI7g 8T § TEI Al [hAT ST ThdT 8| Fgl gL TATH I AT (=1 TRLAHT T =1 %87 § A50
FATAT ST qhaT &, I TRt ST HTAHT * ST I T TS FT GIET °T Aafe § @7 ST TohdT

What belief is there regarding students?/ A==l & avawer & F47 AT=IAT T T &2
1. Some are eye-minded/ & 3@ F¥ A9 &

2. Some auditory-minded/ F® T #¥ 99 &

3. Some verbal-minded/ F= 5&1 & HHAT &

4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 373 T+t

5) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfera werter it eamqE® Tedhe Iq+ A= fad 79 aglamedt Teqi # a51 fasweq
& =TT HL|

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
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learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STENTH T Tgq THTAATAT TATH o ToIT T Faer ATETH HT T TATT qTA FHILRT S The 10T T TTR
AMAAF g, T AT I wedT | vt Rafaat ot aart Srcft § S Tfanme &t agax a=rd) 39
Rafaat & o § AeaTI GEra-aTHET TSTH HEAT, TAeqet si¥ I3Ea< gART il ATaHT IeqaT
FHLAT, YT S ARAAT HT AT IAT, THT HIAT AT S{EAT S ATERTH HT AWTILAT FLATI §2F ETAH
AT ATERTT &7 ST 3 AUl FATAT §1 ST YT AT T WITaw [AATqTsH FT 0T HT
Thd 5, I o=, fhenfew, e, =1E, g o = sae enfeas aui &t 319 o471 &1 a0
AT TETAH ATHINAT AT T STTAT & T QATToTh STRLT F AT UH ATk orf [ JAmar 81 &
AT 99 §%F T ST 8, AEATTH ST HL Tohd g ST AT T TATT oA ATAT g 1| THT FATAT STAT &
& 75 Rt 3@ w3 fiwd §, T g7 F X T Tl I ST A557 F H@d § S ATeah Aq<el &
ST ST & REmaT AT 96T 8, I IIRAT & (70 397 T QAT Aaed® g1 978 SUIh
HTIAT Tl g1 AT A5l, A9 Y& Ig g Fo Rt & sa=r dvevr frdew frar s aear € ar a8 a=
Tg g T srfemm & ™ea stfers s &1 ISTAT G, STTeNT HaaT Ia+t g STfers THTALTAT g1 JTT(T|
S LTSl Y A, St AT T S o ATy ggTas Ty 6 TRU TEqa R T S
THAAT SATETH &1 STTAT gl AT qeTa% QAT UHT TEgal ST qrreafaat &7 faweq T Hdl 5
e 6T | TEqa Gl AT ST ThdT &1 Fgl gL ST U< AT (=19 Taef=T 1 s sy & a8t
HATAT ST HhAT &, I TRt AT HTAHH 6 ST I T TG FT GIET AT At § @7 ST qohdT 2

The abstract notions become easy to understand when they are presented
through:/ s aTorTsit T % ST TEIT FLA I g GHAAT AHTT g1 14T gl

1. Motion pictures/ s=rf=r=t

2. Still picture/ o ==t

3. Rotating picture/ uistier ==t

4. None of the above/ S92 & ¥ #Is g1

Correct Answer :-

« Motion pictures/ s=tt=r=t

6)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

DIRECTIONS: Read the passage and answer the questions that
follow./ fA3sr: i e 1 samEs Teae 3a+ = ¥ 1 sghawedt weai & a5t Ao
T =TI H

To make learning very effective it is not only necessary to utilize the factors
and techniques that facilitate learning, the teacher are to create certain
conditions in the class-room that may improve learning. These conditions
are providing teaching aids, creating rivalry and co-operation, giving the
knowledge of progress and success, praising or reprimanding and guiding
learning. Visual aids make learning concrete and meaningful. You may
describe the physical features of the Indo-Gangetic plain, but motion
pictures, filmstrips, maps, charts, diagrams; pictures would make your
verbal description concrete. An additional meaning is attached to verbal
instruction when teaching aids are used. These are simply supplementary
devices and not the sup planters of what the teacher can do. There is a belief
that some students are eye-minded, some auditory-minded and some
verbal-minded. Those who are verbal-minded can be easily taught through
verbal instructions but for the rest visual aids are necessary. Whether the
above belief is sound or not, whether pupils can be so sharply differentiated
or not is not the question. The fact is that the more organs are used in
learning, the more effective the learning sensory becomes. The abstract
notions become easy to understand when they are presented through
motion pictures or T.V. or such other teaching aids. Instructional aides
provide substitutes to objects and situations that cannot be presented in the
class-room. The science exhibition that is held at a far-off place cannot be
brought into the science room but through a T.V. programme the whole of it
can be viewed in a short period./

STENTH T Tgq THTAATAT TATH o6 ToIT T Faet ATETH HT GIH TATT AT FILRT S TheA 10T BT TR
AELTF &, T ALATIHI &1 HeT § Vet Ryt ot aat Fieft § S AT ¥ Sga< I910) 39
Rafaat # oo § AT GETIh-aTH AT YS9 HLAT, TAeTe T ST I3EI< TgANT 6l ATaHT IeqeT
FLAT, ST S THAAT T ATT QAT THET HLAT T STeAT 3 AT FT ARIAT FLATI 39T TETAF
AT ATERT T STH ST ATl TATAT 1 ST LT AT T AITdh [AATATH FT 0T HC
T &, T T, freafRew, gt 91, s $ix 2 srue enfsas avie &t 19 =7 & 5
TEATIT FETAH ATHIAAT TAT T STTAT & AT QATToTh STASLT F AT TH ATA <k orf [ JATar 81 &
AT 99 €%F I ST 8, AEATTH ST H Thd g ST AT T €ATT A qTAT g 1| THT FATAT STAT &
& 75 Rt 3@ w2 figd §, T g7 F 0 T 51 | ST A581 F H@d § S ATeah Aqe &
ST ST & REmaT A7 96har 8, 98 IIRAT (70 39T G QAT Aaed® &1 978 SUIh
HTIAT Tl 31 AT Agl, 9 T Ig g Fo Rt & sa=r drevr fraee frar s aear § a1 a8 a7
Tg g T srfemmr & ™ea stfers s &1 STANT G, SITANT HaAT Ia+t g SITars THTALATAT g1 JTUT|
SR ATTOITSAr Y A==, St AT YT € o sreATae g T % TiRU Teqa R T S
THAAT AT g1 ATAT g1 AT gk AT UHT Fqait ofix qiertaat &1 fashew Yar9 w3l §
e 6T | TEqa Al AT ST ThdT &1 Fal gL ST I AT (A1 Taeh=T 7 s weq & 481
JATAT ST THaT &, T et ST Frdea & TR 39 T T+ T St srafyr § I@r o ahar 8

What can be use instead of exhibition?/ Tgsi=t & €79 9% FAT TIRT FFAT ST THaT 872
1. Radio/ ¥f==T

2. Puppet/ waqaett
3. Television/ =fifas=
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4. Newspaper/ gHT=TZ-95

Correct Answer :-

« Television/ Z=tifas

7) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fawferfera werter it eamqE® Tedhe Ia+ A= fad 79 sglamedt gedi # a5t fasweq
& FAT L

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound. /

AT AT 6 AT FHT 90T § T ATHRIAT TG AIEAH 5| SHh! Ig= AT | FIHIT g ATh
IR A2 whew i R TEar &, 91 a8 F=1 «ft suf¥ gusgfy 1 2n o® afy i arewrfermar
ST QT g1 a9 1917 | VAT Hr=71 74T AT T3 LSAT THILOI & ATeqH & q8 GHT 92 forear < v
THAT g T | AT 1927 § q¥S | TgaT LT TAT TATIUT G AT| ST AT T FAHhT |
TATIOT G SfiX oot § 9g 1936 § TATUT gl WA | i SreAT A=A (AIR) SaT3 % ATEAH &
AT sETer AT STaT g1 e TEIr 7 S 1937 § wAwar 9 ga ATl a9 9, fHeray ymr
H gieg grat o T ) srrerrier AIR T framerat & o Sfers wrashd TH1id Hd g1 AT 4TeqH
wag frearfast, ST, sl F AT F T & e aga THEere g1 I8 Arehi,
FEIAT, FHEL, G GHTAT, ATeF GATAT ST ATeF FTAFHAT F T % T TF THF ATEAH &
T wreae gy Sie ArHior, AT TR A AR g1 XRAT FEFH SrwaiT 9% 0 et o 9w
T SITar & ST QrTfeaes €912 & T (fare ST g1 T FTARHAL DI ATAF THTAATAT AT & (7 377
gate, T Ta frw eafq wrat &1 ST Rt ST ghat g1 T Tl eate & HTeAH § g7 = a9
H Weg HdT B

In which year was it thought that mass education can be achieved through

radio broadcasts?/ e a vaT Fi=7 737 o1 5 YR T=Ton F aveaw 9 9 9 a7 fem &
ST AT 572

1.1917

2.1927
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3.1937

4. 1947

Correct Answer :-

« 1917

8) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfera werter it eaTqa® Tehe Iq+ A= fad 79 aglamedt Teqi # 51 fasweq
T FAT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound. /

IFRAT AT 6 AT T 0T T T ATHRIAT TAEGAT ATEAH 5| SHhT G5 AT gl FIMHIT gL ATh
R A whew fY ST waar &, =R a8 F=f oft sufs gusgf 1 gn sud wfy sh arenrforwar
ST FArwar g1 a9 1917 | VAT =1 74T AT 36 T=LAT THILON & ATeqH § q8 G/ a2 ferear < <w
T gl AT | AT 1927 | q¥a% H qgaAT USAT TEAT TATIAT G AT| SFAT (AT TEAT Feaawal |
TATIAT ol 3fiX et ® I 1936 & 1o gaml AR # ftwr i3 =AY (AIR) STl & a7e9w &
IR waTr foRaT STaT 81 e TETer FT SE 1937 H FAehar § e ATl a9 9, e yawr
# gl gt o T 81 AfArawier AIR w9 A=t & forw dfers srdwa Toria #3d g1 J=dT 7reqw
wirg fArerttasi, asTaei, SAgE®R & AT & TH & 1T Tga TATaqTA gl I qTeaH,
FETAAT, FHEL, @A FHATATA, Ferw THTAT ST ATerF FTAFHHAT 6 T % fIT TF GG A7 g
T ATeAH gy % ATHIOT, TAT TATHN A AR g1 LI FEAFH AL 9 0 o= a2 9
T SITar € ST erTfeaes 9912 & orT fars S g1 T FTARAL 6T ATAF THTTATAT 9T & o 374
e, S Ta frer eafd Torat &7 ST AT ST 96aT g1 T T ieh eate & ATedH & g = a9
H Wag FLdt 3

The first radio station was established in Bombay in:/ | TS § IgdT
RERIEHE RS nEGEE IR

1. June 1947/ 7 1947
2. July 1927/ =T 1927
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3. May 1927/ 5% 1927

4. June 1927/ ST 1927

Correct Answer :-

e July 1927/ S@Ts 1927

9) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea werter it eamqa® Tehe Iq+ A= fad 79 aglamedt Teqi # a51 fasweq
& =TT HL|

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound. /

IFRAT AT 6 AT T 0 T T ATHRIAT TAGAT AIEAH 5| SHhT G5 AATTEH | FIMHIT g ATh
IR A2 whew it I Taar &, 318 ag F=1 «ft nf¥w qusgfy 1 2n o afa s qrewrerwar
ST QT g1 a9 1917 | VAT =T 74T AT 36 LSAT THILOI & ATeqH & a8 G/ 92 forear < <w
T gl AT | AT 1927 | q¥a% H qgaAT USAT TEAT TATIAT G AT| SFAT (AT TEAT Feaawal |
TATIAT ol 3fiX et ® I 1936 & 1o gaml AR # ftwr i3 =AY (AIR) STl & a7e9w &
AT waTor fonaT STaT 81 e SETer FT seE 1937 H FArehar ° e ATl a9 9, ey yawr
H gl gt o T 81 AfArawier AIR w9 A=t & fore dfers srdwa Taria F3d g1 AT 7Teqw
wag frarfast, ST, sl F SATea =1 % T & e aga THEered g1 a8 Jreh,
FETAAT, FHEL, @A FHATATA, Ferw THTAT ST ATerF FTAFHHAT 6 T % fIT TF GG A7 g
T ATeAH gy % ATHIOT, TAT TATHN A AR g1 LI FEAFH AL 9 0 o= a2 9
T SITar € ST erTfeae €912 & 1T 1fars S g1 T FTARAL 6T ATAF THTTATAT 979 & o 3749
s, T Ta frer safs worat &7 ST AT ST 96at g1 T T ieh eate & ATeAH & g = a9
H Wag FLdt 3

In India, radio broadcast is done through:/ «<a & =3 yomor F ATEAT |
T StTaT &

1. All India Reporters/ e fea Rarer
2. All India Researchers/ @ier =T o=


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. All India Readers/ == =4 =

4. All India Radio/ =it steaT ¥f=ar

Correct Answer :-

« All India Radio/ sffer fear Ife=r

10) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea werter it eaTqa® Tehe Iq #1= faF 79 aglaswedt Teqi § g1 faweq
T FIT H

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound./

IFRAT AT 6 AT T 0T F T ATHIAT TAEAT AIEAH 5| SHhT G5 AT gl FIMHIT gL ATh
R e whew fY T waar &, =R a8 F=f oft s gusgf 1 gn sud wfy sh arenrforwar
FST FArrwar g1 a9 1917 & VAT =1 74T AT 36 T=LAT THILON & ATeqH & a8 G/ 92 forear < <
T gl AT | AT 1927 | q¥a% H qgaAT USAT TEAT TATIAT G AT| SFAT (AT TEAT Feaandl |
T ol 3fiX ot ® I8 1936 & 1o gaml AR # e 3T =T (AIR) STl & a7e9w &
IR waTor fonaT STaT 81 e TETer FT SE 1937 H FAehar § e ATl a9 9, ey yawr
H gl gt o @ 81 AfAranier AIR w9 A=t & forw dfers srdwa Taria F3d g1 JA=dT 7Teqq
wag frearfast, ST, sl F SATeaTE1 % T & e aga THEere g1 a8 Jreh,
FETAAT, FHEL, TF FHATATA, FTerw THTAT ST ATerF FTAFHAT 6 TATL % 1T TF GG qA7e4H g
=T ATeAH gy % ATHIOT, TAT TATHN A AR g1 LA FEAFH AL 9 0 o= a2 q9m<
T SITar € ST erTfeae 99T & orT fars SUh g1 T FTARAL 6T ATAF THTTATAT 979 & o 374
g, S Ta forer safs Torat &7 TR AT ST 96at g1 T T ieh eate & ATedH & g = a9
H Wag wLdT 3

The Radio medium is very effective for broadcast of lectures by eminent:/

R areaw witg % FATEATHT % THTL & {7 Igaq THTET 5
1. Educationists/ forerrfaat
2. Scientists/ a=Tfaat
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3. Historical statements/ tfagrtas faaorn
4. All of the above/ ST T+t

Correct Answer :-

« All of the above/ 393 T+t

11) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfea werter it eamqa® Tehe Iq+ A= fad 79 aglamedt Teqi # a51 fasweq
& FIT L

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound./

IFRAT AT F AT THT 0T T T ATHIAT TAGAT AIEAH 5| ST G5 AATTEH gl FIMHIT gL ATh
R e whew fY T waar &, =R a8 F=f oft sufs gusgf 1 gn sud wfy sh arenrforwar f
FST Forrwar g1 a9 1917 | VAT = 74T AT 36 T=LAT THILON & ATeqH & a8 G/ a7 forear < <
T gl AT | AT 1927 | T | qgaAT USAT TEAT TATIAT G AT| SRTAT (AT TEAT FeaawaT |
T ol 3fiX et ® I8 1936 & 1iud gaml AR # iter SfeaT =T (AIR) STl & a7eqw &
IR waTor fonaT STaT 81 e TETer FT SE 1937 H FAshar § e ATl a9 9, ey yawr
# g gt o @ 81 AfArawier AIR w9 A=t & fore dfers srdwa Taria F3d g1 J=dT 7reqw
wierg fArerttasl, asTaei, SAgE® R & AT & TA & 7T Tga TATaqTH gl I qTeaH,
FETAAT, TR, TF FHATATA, FTerw THTAT ST ATerF FTAFHAT 6 T F TIT TF GG qA784H g
AT ATeAH gy % ATHIOT, TAT TATHN A AR g1 LI FEAFH A< 9 0 o= a2 q9m<
T SITar € ST erTfeaes 99T & orT (fars S g1 T FTARHAL 6T ATAF THTTATAT 979 & o 374
s, T Ta forerw sa i Torat &7 ST AT ST 9hat g1 T T ieh eate & ATedH & g = a9
H Wag wdt 3

Radio programs are generally prepared on topics which are more suitable

to:/ IR FEAHA WA UL TH A=t uX 9 T o1 & 5 & forT arferes S B
1. Verbal communication/ «rrfeas =TT

2. Written communication/ ferfea s=me
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3. Visual communication/ g9 §=1<

4. Printed communication/ gi&d §=1C

Correct Answer :-

« Verbal communication/ etfess =12

12) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fwaferfera werter it eaTqa® Tehe Iq+ A= fad 79 aglamedt Teqi # 51 fasweq
T FIT A

Radio is a popular mass medium in almost all countries of the world. It has
the maximum outreach. Almost everyone irrespective of economic
background can afford to have a radio set. It has the unique characteristic of
speed and immediacy. It was thought in 1917 that mass education can be
achieved through radio broadcasts. In India, the first radio station was
established in Bombay in July 1927. Then the next station was set up in
Calcutta and in Delhi it was set up in 1936. In India, radio broadcast is done
through All India Radio (AIR) services. School broadcasting was started in
1937 from Calcutta. Since then, the school broadcast has increased. Most
AIR stations broadcast educational programmes for schools. The Radio
medium is very effective for broadcast of lectures by eminent educationists,
scientists, historians, etc. It is a rich medium for broadcast of drama,
stories, commentary, sport news, educational news and educational
programmes. Radio medium is popular in both urban and rural settings.
Radio programs are generally prepared on topics which are more suitable to
verbal communication. Sound, music and special audio effects can be used in
audio programmes as to make them more effective. These techniques help
to create visual images through sound./

IFRAT AT 6 AT T 0T T T ATHRIAT TAEGAT ATEAH 5| SHhT G5 AT gl FIMHIT gL ATh
R A whew fY ST waar &, =R a8 F=f oft sufs gusgf 1 gn sud wfy sh arenrforwar
ST QT g1 a9 1917 | VAT =T 74T AT 36 LSAT THILOI & ATeqH & a8 G/ 92 forear < <w
T gl AT | AT 1927 | q¥a% H qgaAT USAT TEAT TATIAT G AT| SFAT (AT TEAT Feaawal |
TATIAT ol 3fiX et ® I 1936 & 1o gaml AR # ftwr i3 =AY (AIR) STl & a7e9w &
IR waTr foRaT STaT 81 e TETer FT SE 1937 H FAehar § e ATl a9 9, e yawr
# gl gt o T 81 AfArawier AIR w9 A=t & forw dfers srdwa Toria #3d g1 J=dT 7reqw
wag frarfast, ST, sl F SATea =1 % T & e aga THEered g1 a8 Jreh,
FETAAT, FHEL, @A FHATATA, Ferw THTAT ST ATerF FTAFHHAT 6 T % fIT TF GG A7 g
T ATeAH gy % ATHIOT, TAT TATHN A AR g1 LI FEAFH AL 9 0 o= a2 9
T SITar € ST erTfeaes 9912 & orT fars S g1 T FTARAL 6T ATAF THTTATAT 9T & o 374
s, T Ta frer safs worat &7 ST AT ST 96at g1 T T ieh eate & ATeAH & g = a9
H Wag FLdt 3

What images are created through sound?/ «af= ¥ 7reqw & H19-9 = s971C 777 872
1. Written images/ fofaa ==
2. Oral Images/ witfe= ==

3. Visual Images/ 3¢7 ==
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4. None of the above/ SYI<F & & #Is g1

Correct Answer :-

« Visual Images/ 397 ==

Topic:- Grad_Child Care and Education

1) Which is/are child welfare schemes?/ =9 & I S 919 HUT0T TSI 2/22

1. Rashtriya Bal Board/ <10 91 Sl

2. Integrated child development Services/ qHd 91 f[aHT JaT o
3. Rashtriya Bal Niti/ &1 a1 Aifd
4. All the above/ IURiad TH

Correct Answer :-

o All the above/ IWRIgd gt

2) Life vitality of child come in which month?/ R3] & Sita+1 &mar & feg urg o
3Tel 82

1. 7 Months/ 7 HIg
2. 5 Months/ 5 HIg
3. 6 Months/ 6 Hig

4. 4 Months/ 4 Hlg

Correct Answer :-
« 7 Months/ 7 Hig

3) Blind, Deaf & dumb come under which category/ ﬁﬂﬁq, T’f@ﬂ'@‘m goft A
Gﬂ%%:

1. Physically handicapped/ XRIR® fdaaivTar

2. Mentally handicapped/ A& fd& il

3. Socially handicapped/ STHINI® fa&waiTan

4. Emotionally handicapped/ HTa-Td® faddiTar

Correct Answer :-

« Physically handicapped/ IRIR® fadwdiar
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4) What is essentials of socialization?/ W%WWW%?
1. Sufficient opportunities/ U 3aTR

2. Motivation/ RN

3. Trail & Error/ WO T4 Yd

4. All of the above/ JURIE GH

Correct Answer :-

« All of the above/ IWRIad IH!

5) Educational Provision for children is:/ S $T fa® UTaT 8:
1. Administrative level/ RIS TR

2. Educational level/ AMed TN

3. Other Provision/ 39 Urdyr-

4. All of the above/ SWRIad Tt

Correct Answer :-

« Administrative level/ URMNE® TR

6) Aims of Early Childhood education is:/ Jd WIdfre e &1 38=a 1 giaT &

1. Development of Interest in learning/ TR & Ui = S Al
2. Development of Aesthetic sense/ Tl SiY &1 [AH™

3. Development of Creativity/ Jo-THbdl BT [dHTH

4. All of the above/ SWRIad gt

Correct Answer :-

« All of the above/ IWRiad Tt
7) Word Environment means:/ Uaia 0l TG &7 3 &-

1. Around All/ IRI % I

2. Mask/ q&rel
3. Influence/ UHTad

4. All of the above / IWRIgd gt

Correct Answer :-
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. Around All/ IRI TR®

8) What are the causes of Hearing Impairment is:/ 49Ul GI¥ & U HT §d 8:
1. Congenital Cause/ SHGTd HRUT

2. Hereditary Cause/ 3{-difRI& HRUI

3. Physiological Cause/ e HRU

4. All of the above/ IWRIad gt

Correct Answer :-

« Physiological Cause/ e BRU

9) What are the theories of learning? / @A & Ry w1 814 &:
1. Theory of trail & Error / Ua=d 3R Yd &1 Rigrd

2. Insight Theory/ 4 &1 g

3. Imitation Theory/ 30T &T Rig

4. All of the above/ SWRidd I+t

Correct Answer :-

« All of the above/ IURlad g

10) Among these which are the principal of development:/ 79 ¥ P faerg &1

s &:

1. Uniform pattern/ A Ufad =
2. Correlation/ TRER &Y

3. Dissimilarity/ f=ar

4. All of the above/ SWRIad gt

Correct Answer :-

« All of the above/ SURIdd Fi

11) What is the functions of UNICEF: / g% &1 HTd =l 82
1. Child Nutrition/ TR areor

2. Child Health/ TIg] w@rez

3. Child Education/ fRrg] e
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4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

12) What is necessary for Bones & Teeth:/ 'e'é’f aﬁ?ai?rasﬁ—mw JTIF B-
1. Calcium/ HaREH

2. Sodium/ Hifgaw

3. Vitamin/ ICEIEE]

4. Iron/ ?ﬁ%T

Correct Answer :-

« Calcium/ SRy

13) What are the special facilities for orphan children?/ 314 §=i 8¢ fa=Iw
gfaurd «ar 82

1. Pre-School Programme/ ij?ﬂw
2. Reading Improvement Programme/ Wﬁ‘aﬁtﬁﬁ:ﬂ
3. Comprehensive Programme/ 9 GrorT

4. All of the above/ IWRiad g+t

Correct Answer :-

« All of the above/ SWRidd g4

14) Orphan homes are ./ ST ﬁﬂﬁ@?ﬁ%
1. Institutional Services/ TRITHH YdTU

2. Non Institutional Services/ 3ERITHS T

3. Institutional & Non Institutional Services/ TRITH® Td ATRITHS JdTU

4. None of these/ 578 J &S gl

Correct Answer :-

. Institutional & Non Institutional Services/ YRIH® T4 SHRITHPD JdT4

15) Which circumstance are necessary for main streaming of exceptional

children?/ fafree sTa®! & g7 4RT # WWfire #4 & o smazas &= ufvfRuat @ 82
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1. Integrated Education/ gafed fRuem

2. Educational Planning/ f2rem faieH

3. Classification of Responsibility/ JTRGII@E] BT S THR]
4. All of the above/ IWRIE G4

Correct Answer :-

« All of the above/ IuRlad g

16) Integrated education plan was started in ______. / G#{&d fRuem aio=n &1
H YR e am ot

1. Year 1981/ 9§ 1981

2. Year 1982/ 94 1982

3. Year 1994/ 99 1994

4. Year 2001/ 9% 2001

Correct Answer :-

. Year 1981/ 9§ 1981

17) Which is not an infectious disease?/ fFi A ¥ $IH Jpa® T 78 82
1. Typhoid/ TABISS

2. Cough/ PG 3|

3. Fever/ §UR

4. AIDS/ TgH

Correct Answer :-

. AIDS/ UgH

18) AIDS affected person have stages./ mmﬁﬁ

a1 Bt B
1.6
2.4
3.5

4.2

Correct Answer :-
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19) Factor responsible for plateau of learning:/ HRaq & USR & SR
1. Polluted Environment/ Ej{f@?la'l?ﬂHTUT

2. Less 1Q/ Sfaalsd &1 &H gIHT

3. Not Paying Attention/ &1 9 &Il

4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ SURIad Tt

20) Analytic and synthetic approach are related to:/ fa=auur 3fiv J=zAwor IUrTH
frad Tt 3-

1. Speech Reading/ HINT dld-d

2. Auditory Training/ YdUl UfRI&0l

3. Vocational Training/ SaTadTd HiRIeor
4. Speech training/ aroft ufRieror

Correct Answer :-

« Speech Reading/ HINT dldq

21) After birth what are the various physical activities child do?/ S & U=
gy e o @ o < ariie framd wwar 82

1. Heat Regulation/ drd TR fAg=01
2. Develop Immunity Power/ AT Ui &l T f[adr™
3. Digestion/ U febd

4. All of the above/ IWRIad gt

Correct Answer :-

e All of the above/ IWRIad gt

22) What is the age of Pre-Gang?/ d cIdit 3t 3Tg &1 gId! 8?2
1.3 to 6 Year/ 39 6 T

2.2to 5 Year/ 29 59Td
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3.6 to 10 Year/ 6 ¥ 10 ITq

4.6 to 12 Year/ 69 12 9@

Correct Answer :-

.« 3to 6 Year/ 34 69

23) 3-6 Year Age in called:/ 3-6 994 ®! 3T Hgard &:
1. Pre-Gang Age/ Ujﬂ?ﬂ

2. Gang/ crett

3. Friend Gang/ IEEFINI

4. Group/ dHg

Correct Answer :-

« Pre-Gang Age/ Ujfa?ﬁ

24) Fetus life depends on:/ nﬂwﬁmwvﬂvﬁrﬁrﬂ?mé-
1. Fallopian tube/ g AferpT

2. Placenta/ 3fUx1

3. Nervous system/ ¥ HUSA

4. All of the above/ SURIad Tt

Correct Answer :-
e Placenta/ U

25) In Infancy girls child weight is than boy./ AMIRIT H FIABT BT UIR
e A FaTe

1. Less/ ®H

2. More/ SUlal
3. Equal/ SRR

4. None of these/ E’Hﬁ@ﬁgﬂ_ﬁ

Correct Answer :-

e Less/ ®H
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Which is the stage of Speech Development?/ YTYT fapT &t W&ﬁ?@ﬁ%”
1. Pre Speech form of communication/ qﬁ@w

2. Speech form of communication/ IRdfd® YIS B N GTAr

3. Both of these/m?ﬁ?ﬁ:ﬁ

4. Defective Speech/ grogul HTHT

Correct Answer :-

« Both of these/IURIad gl

27) What is the process of socialization?/ Wﬁmwﬁ?ﬁ%’

1. Learning to behave in socially approve ways/ STHING 0 ¥ JATGd HdgR B G-
2. Playing approved social roles/ wmwwmﬁwﬁﬁw

3. Development of attitudes, HTHTfSH &rf\ﬂ-l'cjﬁlﬁﬁﬁw

4. All of the above/ IWRIe GH

Correct Answer :-

« All of the above/ SWRIad Tt

28) Maturation & learning are the conditions responsible for . / uiuaadn

Y1 WE= S & ¥ Sarerh uifRufaT &
1. Cognitive Development/ WW

2. Emotional Development/ Faic® [dHT
3. Creativity Development/ goHTd® fddbrg
4. None of these/ @ﬁ@[ﬁ%‘ﬂ‘eﬁ

Correct Answer :-

« Cognitive Development/ I3MTA® fdd

29) 2 to 6 years of age is identify as:/ 2 ¥ 6 9T &I T UgdT=T STdT 8:
1. Early childhood / Jd STeaTa=Il

2. Childhood/ dIcdTd®IT

3. Adolescence/ f&=IRTaRI

4. Adulthood/ UTGTaRIl

Correct Answer :-
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« Early childhood / Jd STeaTa®i1
30) What is the full form of NIPCCD?/ NIPCDD &1 [RT -TH & 32

1. National Institute of public health and child development/ T SHEEAN Td §Td
fahT IR

2. National child policy/ &I &Tet ifd

3. National child Board/ I&<g 1@ &I8
4. None of these/ 370 ¥ &g gl

Correct Answer :-

« National Institute of public health and child development/ T¢I AR Td Tl
ICEIRRIRJIE]

31) NIPCCD is a :/ NIPCCD ®IT g -

1. Government Organization/ TRBRI TS
2. Private Organization/ TRERGRI T

3. Autonomous Organization/ ¥Id 6

4. Semi Government Organization/ ST 1T TS

Correct Answer :-
« Autonomous Organization/ ¥Ad J39

32) What is the characteristics of Special Education?/ fa=iw fiem @t fa=iward @

gl 82

1. Resource teacher/ IHIYT AHAUD

2. Residential School/ 3fTaTEt faeme™

3. Special day School/ fa=y Wg ufvquf Hemd
4. All of the above/ SWRIead TH!

Correct Answer :-

« All of the above/ IRIad g+t

33) Favorable conditions of creativity is:/ m%mwwiﬁ%%:
1. Positive Social attitude/ $Td® FrHTfSe JfYfaar
2. Social facilitation/ IS JIHdT
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3. Knowledge/ I
4. All of the above/ IWRiad g+t

Correct Answer :-

« All of the above/ IRIad g+t

GET IT ON
Google Play

34) Probation home are for?/ m&nﬁm%ﬁlﬁﬁm%?
1. HIV Effected child/ HIV U dlcidh

2. Problem child/ FHYTH® dlddh

3. Delinquency/ d1df SHURTY

4. Handicapped Children/ fa®ai s=d

Correct Answer :-

« Delinquency/ dIdl 3URTY

35) Unfavorable conditions of creativity is:/ m%ﬁﬁ%ﬁw?ﬂ[@ﬂi

1. Suppression of Imagination Power/ P oo Yfad &I FEded BRI
2. Over protection/ 3ffd TR&T

3. Lack of Interest/ & & &

4. All the above/ JURId GHt

Correct Answer :-

« All the above/ IuRiad g+t

36) At which age control of emotions is done by child?/ STa® Hav W =0

fra g A pear 22
1. 3 Years/ 3 9Id]
2.2 Years/ 2 9Td
3.5 Years/ 5 9Td

4. 6 Years/ 6 9Td

Correct Answer :-

e 2 Years/ 2d9Id

37) Abortion is related to:/ THUd fad dfid 2:
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1. Germinal period/ SiSTa=yT
2. Period of embryo/ fUus sra=n
3. Period of Zygote/ gadl HaxIT

4. Period of Fetus/ MR R &1 @y

Correct Answer :-

« Period of embryo/ fUus srgw

38) Among theses which are not child welfare programme?/ 39 9 S 91 91
TV BRI a1 32

1.1.C.D.S/ 3ms. 3t S wg
2. CARE/ IR

3. UNICEF/ gt

4. Family planning Revolution/ SHAT 3+

Correct Answer :-

« Family planning Revolution/ SHEBAT 3

39) Defective Speech is related to?/ araqul yTHT forad Wafia 82
1. Defect in word meaning/ 6 & 3 § g

2. Defect in Pronunciation/ IR gy

3. Defect in sentence structure/ CIERE RERIR: KL

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ IWRIe GH

40) Ma-Ma-Cha-Cha sound is related to:/ ATHI AT dT wﬁﬁﬁmﬁw&m%
1. Babbling/ Il

2. Gesture/ BIdHId

3. Comprehension/ 3fi& e fad

4. None of these/ sﬂﬁﬁaﬂs‘qﬁ

Correct Answer :-

« Babbling/ dddTHT
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41) What is language?/ YTYT T 82
1. Parental Property/ aﬂﬁﬂmﬁ

2. Normal Behavior/ dTHI dgIR

3. Acquired Quality/ &rﬁ&rw

4. Special Quality/ fafme o7

Correct Answer :-

« Acquired Quality/ \Hﬁh{[UT

42) Functions of central social welfare board is:/ $f<g THTS HATU SIS & BT

T8I 82
1. Supplementary Nutrition Programme/ &WWW

2. Creches/ UTdH @R

3. Welfare extension project/ & cdul EESIEEISE

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

43) What is the special equipment for Teaching blind?/ 3389 &1 & 7q fa=iw
YD T 8?2

1. Brail Lipi/ s& fadt

2. Speech Theraphy/ qroft fafean

3. Trained Teacher/ UfRIf&rd fRiered

4. None of these/ E”Q'ij?ﬁ oY PIS gl

Correct Answer :-

« Brail Lipi/ s fordt

44) AIDS Virus have no life cycle?/ T a1y T $I5 oita- o3h a1 gidi?
1. Right/ ¥
2. Wrong/ 38

3. Partially true/ 3{ifi® I
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4. Partially false/ 3fifR/® 3G

Correct Answer :-

« Right/ ¥

45) Placenta is related to:/ 90l I Jafia 8-
1. Environment/ YRl

2. Heredity/ d=IspH

3. Prenatal/ Wlf{?—[filﬂl

4. Physical Development/ RIS fawrg

Correct Answer :-

« Prenatal/ WWQI?[
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